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[bookmark: _bookmark0]PREFACE


Dear Students!
This course helps you to understand the business environment and the financial incidences of a business organization. This course will help you understand the essential financial components of businesses. Whether you are looking at a large multinational company or a single-owner simple shop, financial and managerial accounting helps to know about the company’s financial position and operating result for a given period. Thus, knowing the financial and managerial accounting will help you understand what is happening in the organization. As an employee, a manager, an investor, a business owner, or a director of your own personal finances—any of which roles you will have at some point in your life—you will be much the wiser for having taken this course.
[bookmark: _GoBack]This module contains so many contents which helps you to learn in the best possible way, whatever your learning style. To understand what you’re learning style is, spend enough time until you grasp the principles and concepts of financial and managerial accounting. Then, look at and workout the self-examination questions provided at the end of each chapters. This is one course where exercising is learning, and the more you spend your time on the doing questions, the more likely you learn the essential concepts, techniques, and methods of financial and managerial accounting.
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[bookmark: _bookmark2]CHAPTER ONE: INTRODUCTION TO ACCOUNTING AND BUSINESS
In the earlier stage of economic development, a business enterprise was very often managed by its owner, and the accounting records and reports were used mainly by the owner/manager in conducting the business. Bankers and other lenders often relied on their personal relationship with the owner rather than on financial statements as the basic for making loan to business.
As business organizations grew in size and complexity, managers and outsiders became more clearly differentiated. From outsiders point of views, which includes owners, creditors, government, banks, customers, and the public demanded for accurate financial information on the basis of which they could judge the performance of organization. In addition, as the size and complexity of the business unit increased, the accounting problems involved in the issue of financial statements became more and more complex. Along with these developments came an awareness of the need for a conceptual framework and generally accepted accounting principles that could serve as guidelines for preparing basic financial statements. In this unit, you will study the principles and concepts of accounting.
OBJECTIVES OF THE CHAPTER

After studying this chapter, you should be able to:

[a] Explain what accounting is.
[b] Identify the users and uses of accounting.
[c] Identify and describe principles and concepts of accounting.
[d] State the accounting equation and define each element.
[e] Analyze the effects of business transactions on the accounting equation.
[f] Understand the four financial statements and how they are prepared.

1.1. [bookmark: _bookmark3]Evolution, Definition, and Importance of Accounting
Why accounting discipline evolved? Accounting like other fields of study has evolved in response to social and economic problems or needs. Accordingly, accounting developed to meet financial information needs of the society. In general, the following points contribute for evolution and development of accounting:

· Industrial revolutionActivity
Question 1: What is mean by accounting?	

· Appearance of corporate form of businesses
· Need of public accounting
· Coming of income tax concepts
· Influence of government and so on.
The development of accounting passes through two stages:
(a) Primitive accounting (single entry system)
People in all civilizations have maintained various types of records of business activity. However, their systems of record keeping deal only with one aspect of financial operation and were not considered complete.
(b) Modern accounting (double entry system)
This is a system of record keeping that considers both aspect of a transaction so as to keep equilibrium. Meaning every transaction should affect at least two things. For instance, if a business purchase machinery for Br 1,200, this transaction is recorded both as asset which is machinery for Br 1,200 and as payment of cash of Br 1,200.
Definition of Accounting
Accounting is the process of identifying, recording (recording, classifying, and summarizing) and communicating (preparing, analyzing and interpreting) accounting reports for users. In short, it is an information system that measures business activities, processes that information into reports, and communicates the results to decision makers. The followings are the importance of accounting:Accounting consists of three basic activities - it identifies, records, and communicates the economic events of an organization to interested users.


· It determines the operation results of the organization.
· It facilitates rational decision making, for decision makers.
· It keeps systematic record of business transaction.
· It plays important role in all economic social system.
1.2. [bookmark: _bookmark4]Accounting as an Information System
Accounting is called as the language of business. This language viewed as information system to make an informed judgment and decision by the users’ of the information. An Accounting

System is designed to accumulate data about a firm’s financial affairs, classify the data in a meaningful way, and summarize it in periodic reports called financial statements.
Characteristics of Accounting Information and Its Users
Accounting information is composed principally of financial data about business transaction, expressed in terms of money, and accounting reports the financial data, by sorting and summarizing the recorded data.
The process by which accounting provides information to users is as follows:
1. Identify users.
2. Assess users’ information needs.
3. Design the accounting information system to meet users’ needs.
4. Record economic data about business activities and events.
5. Prepare accounting reports for users.






Users of Accounting Information
The results of accounting process are communicated to many individuals and organization. The users of accounting information may be divided into two broad groups: internal and external information users.
1. Internal Users: are those individuals directly involved in the process of either planning or controlling current operations or for formulating long- range plans and making major business decision.
· Managers and Employees: Managers use accounting information to set plans for their organizations. They also evaluate progress toward those plans, and they take corrective action when it’s needed. Employees are also interested in the financial information of the business that employs them.
2. External Users: are parties that are not directly involved in running the operations of the business.
· Investors: They are interested in companies past success and its potential earnings. A thorough study of a firm’s financial statements helps potential investors judge the prospects for a profitable investment. After investing, they must continually review their commitment, again by examining the firm’s financial statements.
· Creditors: Creditors, those who lend money or deliver goods and services before being paid, are interested mainly in whether a company will have the cash to pay interest

charges and to repay the debt at the appropriate time. They study a firm’s liquidity and cash flow as well as its profitability.
· Government Regulatory Agencies: They are concerned with the financial activities of business organizations for purposes of regulation.
· Tax Authorities: Government at every level is financed through the collection of taxes. For instance, income tax is figured using accounting information. Sales tax depends upon a firm’s sales. The process of using accounting information is illustrated in the following diagram:






Users Information Needs
· Investing
· Approving Loan
· Assessing Taxes
· Negotiating labor Union Contract
· Establishing Budget
· Financial Statement
· Special Report
· Tax Return Report
· Regulatory Report
· Management Report
Users Decision

Reports
Accounting System
Economic Data
· Investors
· Bankers
· Suppliers
· Governmental Agencies
· Employees
· Management
Identification of Users

1.3. [bookmark: _bookmark5]The Profession of Accounting
Accounting as an old profession, records of business transactions have been prepared for centuries. However, only during the last half-century has accounting been accepted as a profession with the same importance as medical and legal professions. Today several million are

employed in accounting and accounting related fields all over the world. Accountants are typically engaged in either private accounting or public accounting. Private Accounting: accountants employed in a particular business firm or non- for- profit organization, perhaps as chief accountant, controller, and financial vice - president. Public Accounting: accountants who render accounting service on a fee basis and staff accountants employed by them. The followings are specialized accounting fields:
· Financial Accounting- concerned with recording of transactions for a business enterprise or other economic unit and the periodic preparation of various reports from such business.
· Auditing – an independent review of the accounting records of the business.
· Cost Accounting – the determination and control of costs. It is concerned primarily with the costs of manufacturing process and of manufactured products. The most duties of cost accountant are to gather and explain cost data, both actual and prospective.
· Managerial Accounting – uses both historical and estimated data in assisting management in daily operations and in planning future operations. The managerial accountant is frequently concerned with identifying alternative course of action and then helping to select the best one.
· Tax Accounting - preparation of tax returns and consideration of tax consequences of proposed business transactions or alternative course of action.
· Accounting System – concerned with the designing and implementation of procedures for the accumulation and reporting of financial data.
Also, there are some other types of field in accounting such as: budgetary accounting, non- for- profit accounting, social accounting, etc.
1.4. [bookmark: _bookmark6]Accounting Principles and Concepts
The business transactions are recorded and processed using certain fundamentals, concepts and conventions, which are called as Generally Accepted Accounting Principles. GAAP is developed from research conducted, accepted accounting practices and pronouncements of accounting authoritative bodies and Financial Accounting Standard Board (FASB). Accounting principles may be defined as those rules of action or conduct, which are adopted by the accountants, universally, while recording the transactions. They are, however, not rigid. They are

subject to change. They have evolved in order to deal with practical problems experienced by a preparer and a user rather than to reflect some theoretical ideal. The term ‘Accounting Concept’ refers to assumptions and conditions on which the accounting is based. Basic assumptions of accounting can never be ignored. Some of the principles and concepts of accounting presented as follow:
a. Business Entity Concept
The most basic concept in accounting is that of the entity. An accounting entity is an organization or a section of an organization that stands apart as a separate economic unit. In accounting, boundaries are drawn around each entity so as not to confuse its affairs with those of other entities. Assume Mr. Y started Y business on his own. Suppose he began with $5,000 obtained from a bank loan. Following the entity concept, Mr. Y would account for the $5,000 separately from his personal assets, such as his clothing, house, and automobile. To mix the
$5,000 of business cash with his personal assets would make it difficult to measure the financial position of Y business. For example, MEDROC is a huge organization with several divisions operating in Ethiopia. Its management evaluates each division as a separate accounting entity. If sales in the one division are dropping, it can find out why. But if sales figures from all divisions of the company are combined, management will not know that the division’s sales are going down. Thus, the entity concept applies to any economic unit that needs to be evaluated separately.
b. Money measurement concept
Accounting records only those transactions that can be expressed, in terms of money. If the events or transactions cannot be expressed in monetary value, however important they are, they are not recorded in accounts. For instance, a talented manager is assets to the firm, in the real sense, but monetary measurement is not possible so accounting books do not exhibit him.
c. Going concern concept
The underlying idea of this concept is that the business once started its operation will continue indefinitely for unlimited period of time, until unknown future, to earn profit.

It is to be noted that the ‘Going Concern Concept’ does not imply permanent continuation of the enterprise, indefinitely. It rather presumes that the enterprise will continue in operation long enough that the cost of the fixed assets would be charged over the usual lives of the assets
d. Cost principle
It determines the amounts entered into the accounting records for purchase of properties and services for business operation. Then it states that actual cost, exchange price serves a basis for recording them. For example, you are considering the purchase of automobile for the business operation. The seller is asking $50,000 for automobile that costs her $35,000. An appraisal shows a value of $47,000. You first offer $44,000. The seller counteroffers with $48,000 and you agree on a price of $46,000. What dollar value for this automobile is reported on your financial statement? Which accounting concept or principle guides your answers?
Answer: According to the cost principle, assets and services should be recorded at their actual cost. You paid $46,000 for the automobile, so report the land at $46,000. Cost concept brings the advantage of objectivity in the preparation of financial statements. In the absence of this concept, accounting records would have depended on the subjective views of the persons.
However, it does not mean that the fixed assets are valued at the historic cost, original price at which they are acquired, for all the years rather depreciation is charged based on the original cost and net value shown on financial statement.
e. Periodicity principle
According to the ‘going concern concept’, every business would exist for a longer duration. However, periodicity principle requires dividing the long life of the business into specific periods (accounting periods) to provide periodic performance to users. After each period, it is necessary to ‘stop’ and ‘see back’ how things have been going. So, it is necessary to maintain accounts with reference to a specific period.
Activity
Question 3: What is business organization?	


1.5. [bookmark: _bookmark7]Types of Business Organizations
Business organizations can be classified in various categories basing different criteria. The two main classification is based on the forms of establishment and the nature of business operations. Based on the forms of establishment, businesses established either of sole proprietorship, partnership or corporation. These forms are entirely different each other and business should choose one only.
a. Sole proprietorship
A Sole proprietorship is business owned by an individual and often managed by that same individual. Single proprietors include physicians, lawyers, electricians, and other people who are in business for themselves. Many small service-type businesses and retail establishments are single proprietorships. No legal formalities are necessary to organize such businesses, and usually only a limited investment is required to begin operations.
In a single proprietorship, the owner is held solely responsible for all debts of the business. For accounting purpose, however, the business is a separate entity. Thus the financial activities of the business, such as the receipt of fees from selling services to the public, are kept separate from the personal house or car payment should not be entered in financial records of the business.
b. Partnership
A partnership is an unincorporated business owned by two or more persons associated as partners. The business is often managed by same persons. Many small retail establishments and professional practices, such as dentists, physicians, attorneys and other professional firms, are organized as partnerships.
Partnerships are created by a verbal or written agreement. A written agreement is preferred because it provides a permanent record of the terms of the partnership. Included in the agreement are such terms as the initial investment of each partner, the duties of each partner, the means of dividing profits or losses between the partners each year, and the settlement to be made up on the death or withdrawal of a partner. Each partner may be held liable for all the debts of the partnership and for the actions of each partner with in the scope of the business. However, as with in the single proprietorship, for accounting purposes, the partnership is a separate business entity.

c. Corporation
A corporation is a business incorporated under the law of the country and owned by a large number of persons. At most all large businesses are corporation. The corporation is unique in that it is a legal business entity. The owners of the corporation are called stockholders or shareholders. They buy shares of stock, which are unit of ownership, in the corporation. The personal assets of the owners are protected from the creditors of the corporation that is the owners have limited liability. The stockholders do not directly manage the corporation; they elect a board of directors to represent their interests. The board of directors selects the officers such as the president and vice presidents who manage the corporation for the stockholders.
On the other hand, based on the types of activity engaged or based on the nature of operation business established as service rendering, merchandising or manufacturing businesses.
a. Service companies: Service companies perform services for a fee. This group includes companies such as accounting firms, law firms, repair shops and many others.
b. Merchandising companies: Merchandising companies purchase goods that are ready for sale and sell them to customers. Merchandising companies include such companies as out dealership, clothing stores, and supermarkets.
c. Manufacturing companies: Manufacturing companies buy materials, convert them into products, and then sell the products to other companies or final consumers. Example of manufacturing companies is cloth manufactures, auto manufacturers and flour factories.
1.6. [bookmark: _bookmark8]Business Transactions and the Accounting Equation
Business transactions: it is an economic event or condition that directly changes the entities financial position or directly affects its results of operation. For instance: payment of utility bills of Br 50 affects financial position to decline. Business transactions can be:
(a) Simple transaction: transaction occurs just only once in a time unless it comes on another time.
(b) Complex transactions: transactions that cause another transaction to occur. It is the case, in which a single transaction also brings other several transactions.
(c) External transaction: a transaction between the organization and outsider party
(d) Internal transaction: a transaction within the organization itself.

Accounting equation: Assets are resources owned by the business. Equities are rights or claims against these resources. Thus, a business that has Br 100,000 of assets also has Br 100,000 of claims against these assets. Fundamental accounting equation establishes this relationship, assets against its sources in equation form as follows;
Asset = Equities
The two principal sources of resources (assets) are owners and creditors. Therefore, equities (claims) may be further subdivided in to two categories; claims of creditors represent debt of the business called liabilities. Claim of owners are called owner’s equity. The equation above is then expanded as follows;
Assets = Claims (creditors claim & owner’s claim)
Thus the accounting equation is the following:
Asset = Liabilities + Owner’s equity

It is customary to place ‘liabilities’ before ‘owner’s equity’ in the accounting equation because creditors have a preferential right over owners in business resources or assets. If a company goes bankrupt, liabilities are paid off first to creditors, while equity is the last to be distributed. Therefore, owners' equity is also called residual equity.
All business transactions can be stated in terms of changes in the elements of the accounting equation.

Assets, liabilities, equity, revenue and expense
Assets: are resources owned by a business. The common characteristics possessed by all assets are service potential or future economic benefit. The assets should provide future service or benefit to the business such as furniture, car, cash, and office supplies and so on.
Liabilities: are creditors claim on total assets of the business. Simply, it is existing debts and obligations. Example: account payables, wages payable, and interest payable and so on.
Owner’s equity: it is the ownership claims on total assets. It equal to total assets minus total liabilities. In sole proprietor ship and partnership form of business, the principal sub divisions of owner’s equity are; capital, drawings, revenues and expense.
Capital: is the term used to describe the owner’s investment in the business an investment made increases capital, ownership claims on the total asset. Example: Mr. X capital, ABC capital and so on.
Drawing: refers to owners withdraw cash or other assets from the business for personal use. This decreases owner’s equity in the business.
Revenue: is the gross increase in owner’s equity resulting from business activities entered into for earning profit such as sales revenue, fees revenue, rent revenue and so on.
Expense: is the cost of assets consumed or services used in the process of earning revenue such as cost of goods sold, wages expense, supplies expense utility expense etc. It decreases owner’s equity.
Illustration to the accounting equation: Assume Mr. Biniam establishes sole proprietorship business that operates taxi services in Addis Ababa city named Beta Taxi Company on January 2016.
Transaction -A- Owner’s investment
In order to start up the business, Mr. Biniam deposited $10,000 in a bank account in the name of Beta Taxi Company. The effect of this transaction is to increase the assets (cash), left side of equation and to increase the owner’s equity on the right side of the accounting question by the same amount.
Assets 	=	Liabilities	+	Owner’s Equity
Cash	Mr. Biniam Capital
(A)	10,000	10,000[image: ] Investment

At this point, the company has no liabilities; the only party having claim over the assets of the company is the owner. Note that, the equation relates only to the business enterprise. Mr. Biniam personal assets, such as his home and personal bank account and personal liability are excluded from consideration. The business must be treated as a separate entity.
Transaction -B- Purchase of land for cash
Mr. Biniam purchased land, which costs $7,500 by paying cash, to be used as a future site for the business. This transaction changes the composition of the assets but it doesn’t change the total amount of assets. It has no effect on the liability and owner’s equity of the business.
Assets 	=	Liabilities    +	Owner’s Equity
Cash  +  Land	Mr. X Capital
(A) 10,000	7,500	10,000
(B) - 7,500			
Balance	2,500	7,500	10,000
After the above transaction, the company will have less cash but a new asset (land). The total assets (cash + Land) amount to Birr 10,000, which is equal to the owner’s equity.
Transaction - C- Purchase of Supplies On credit
Mr. Binaim purchased $850 of gasoline, oil, and other supplies and agreed to pay the money in the near future. This type of transaction is called purchase on account and liability (account payable) is created. The transaction’s effect is increasing both the assets and liability amounts.


Assets 	=    Liabilities	+   Owner’s Equity
Cash + Supplies + Land	Account Payable	Mr. X Capital Bal. 2,500	7,500			10,000
(C) 	850		  850	
Bal. 2,500	850	7,500	850	10,000

Goods that are physical consumed, such as a chalk to a school, gas oil for car, and stationery materials for an office, are called supplies.
Transaction –D- Payment of liability
Mr. Biniam paid for creditor $400 for the supplies purchases in the above transaction, the effect is decreasing the assets and liabilities.
Assets 	=	Liabilities	+	Owner’s Equity
Cash + Supplies + Land	Account Payable            Biniam Capital Bal. 2,500	850	7,500		850		10,000
(D)  - 400		 - 400	
Bal.  2,100	850	7,500	450	10,000
Transaction -E- providing or selling of service
Mr. Biniam taxi provided taxi services for the customers and earned fares (revenue) of $ 4,500, Mr. Biniam received the total amount of cash from the customers. In general, the amount charged to customers for goods or services sold is called revenue. Instead of requiring the payment of cash at the time goods or services are sold, a business may make sales on account, allowing the customers to pay latter. In such cases, the firm acquires an account receivable, which is a claim against the customers. Accounts receivable is as much as an asset as cash and revenue is realized. The effect of this transaction is increasing both the assets and owner’s equity.
Assets 	=   Liabilities  +   Owner’s Equity
Cash + Supplies + Land	Account Payable Mr. Biniam, Capital 
Bal. 2,100   850	7,500		450	10,000
[image: ](E) +4,500		4,500    Fares earned
Bal.  6,600    850	7,500	450	14,500
Transaction -F- Payment and Recording Expenses
The amount of assets consumed or services used in the process of earning or generating revenue is called expenses. Mr. Biniam taxi incurred and paid the following expenses during the month: wages $1,125; rent $850; utilities $ 150; miscellaneous $ 75. The effect of this transaction is reducing both assets and owner’s equity.
Assets 	=	Liabilities	+	Owner’s Equity
Cash + Supplies + Land	Account Payable	 Mr. Biniam Capital 
Bal. 6,600	850	7,500		450	14,500
(F) -2,200	- 1,125 [image: ]Wage expense
-850 [image: ]Rent expense
- 150 [image: ] Utilities expense
[image: ]	-75	Miscellaneous expense
Bal.  4,400        850      7500	450	12,300

Transaction -G- Recording Expenses
Mr. Biniam’s supplies on hand (not yet used) accounts for $ 250 at the end of the month, the reminder 600 (850 - 250) have been used in the operation of the business. The effect of this internal transaction is decreasing both assets and owner’s equity.
Assets 	=	Liabilities	+    Owner’s Equity
Cash + Supplies + Land	Account Payable	 Mr. Biniam Capital Bal. 4,400	850	7500		450	12,300
(G) [image: ]	- 600			-600  Supplies Expense
Bal. 4,400	250    7,500	450	11,700
Transaction	-H- Owner’s Withdrawal
At the end of the month, Mr. Biniam withdraws $1,000 in cash from the business for his personal use. This internal transaction reduces the assets and owner’s equity.
Assets	=	Liabilities	+	Owner’s Equity
Cash	+ Supplies + Land	Account Payable		Mr. Biniam Capital 
Bal. 4,400		250	7,500		450	11,700
-1,000			-1,000	 Withdrawal
Bal.  3,400	250	7,500	450	10,700
The transactions of Beta Taxi Service can be summarized in a tabular form as shown below. Letters identifies the transactions here and the balance of each item is shown after each transaction.














Summary of the above “A” to “H” transactions presented as follow:

Assets 	=
Cash + Supplies + Land
(A) 10,000	7,500
(B) -7,500	
2,500	7,500
(C) 	850	
2,500	850	7,500
(D)   -400	
2,100	850	7,500
(E)  4,500	
6,600	850	7,500
(F) -2,200



4,400	850	7,500
(G) 	-600	
4,400	250	7,500
(H)  -1,000	
3,400	250	7,500

Liabilities	+	Owner’s Equity Account payable +		Mr. X Capital
10,000  [image: ] Investment

10,000
  850	
850	10,000
 -400	
450	10,000
	+4,500  [image: ]Fares earned
450	14,500
-1,125 [image: ]Wages expense
-850 [image: ]Rent expense
-150 [image: ]Utility expense
	-75 [image: ]Misc. expense
450	12,300
	-600 [image: ]Supplies expense
450	11,700
	-1,000 [image: ]Withdrawal
450	10,700


As the above summary shows, at the end of transaction “H”, ABC Taxi Company has a total cash of $3,400, supplies of $250, land of $7,500, and the company also owed (liability) $450 to others and the owner equity is $10,700. The following points apply for all types of business:
Notes:
1. The effect of every transaction increases and/or decreases one or more of accounting equations elements.
2. Equality of the two sides of the accounting equation should be satisfied always.
3. Owner’s equity is increased by the amounts invested by the owner and revenues earned. In contrast, it’s decreased by the amounts withdrawal made by the owner and expenses incurred.

Owner’s Equity
Decreased
Increased
· Owners withdrawals
· Owners Investment
· Expenses
· Revenues

1.7. [bookmark: _bookmark9]Financial Statements
After the effect of the individual transaction has been determined, essential information is communicated to users. The accounting statements or reports that communicate this information are called financial statements. Generally, there are four types of financial statements.
1.7.1. Financial Statements for Sole Proprietorship and Partnerships
The principal financial statements for sole proprietorship are the following:
1. Income Statement: It is a summary of revenues and expenses of a business entity for specific period of time, such as a month or a year. The excess of revenues over expenses is called net income or net profit. If the expenses exceed the revenues, the excess is net loss. The determination of the periodic net income or net loss is a matching process involving two steps. First, revenues are recognized during the period. Second, the assets consumed in generating these revenues must be matched against the revenues in order to determine the net income or net loss.
2. Statement of Owner’s Equity: It is a summary of the changes in the owner’s equity of a business entity that have occurred during specific period of time. Increases in owner’s
equity come from: owner investments and net income, and decreases in owner’s equity result from: owner’s withdrawals and net loss.
3. Balance Sheet: It is a list of assets, liabilities and owner’s equity of a business entity as of a specific date. The assets section of a balance sheet (left hand side) begins with cash followed by receivables, supplies, prepaid insurance and other assets that can be converted in to cash or used up in the near future. The assets of relatively permanent nature such as land, building and equipment follow that order. In the liability and owner’s equity section of the balance sheet (right hand side), the liabilities presented first followed by owner’s equity.
4. Statement of Cash Flows: It reports the cash coming in (cash receipts) and the amount of cash going out (cash payments) during a period. Business activities result in a net cash inflow (receipts greater than payments) or a net cash outflow (payments greater than receipts). The statement of cash flows shows the net increase or decrease in cash during the period and the ending cash balance. This statement is reported in three sections: operating activities, investing activities, and financing activities.
i. Operating Activities: This section includes cash transactions that enter in to the determination of net income or net loss. The net cash flow from operating activities normally differs from the amount of net income for the period.
ii. Investing Activities: This section includes the cash transaction for the acquisition and sale of relatively long term or permanent type of assets.
iii. Financing Activities: This section includes the cash transaction related to cash investment by the owner’s and borrowing and withdrawals by the owner.
NB: the cash balance at the beginning of the period is added to the increase (or decrease) in cash for the period to obtain the cash balance at the end of the period.Activity
Question 4: What are the four types of financial statements?	

The basic features of the four statements and their interrelationships are illustrated by taking data from Beta taxi business as follow:













Beta Taxi Company 
Income Statement
For Month Ended January 31, 2016
	Fares Earned
	$4,500

	Operating Expenses :
	

	Wages Expenses
	$1,125

	Rent Expenses
	850

	Supplies Expenses
	600

	Utilities Expenses
	150

	Miscellaneous Expenses
	  75

	Total Expenses
	2,800

	Net Income
	$1,700



Beta Taxi Company Statement of Owner’s Equity
For Month Ended January 31, 2016
	Investment During the Month
	$10,000

	Net Income for the Month
	$1,700

	Less: Withdrawal
	1,000

	Increase in Owner’s Equity
	700

	Mr. X Capital, January 31, 2016
	$10,700



Beta Taxi Company Balance Sheet January 31, 2016
	Assets
	

	Cash
	$3,400

	Supplies
	250

	Land
	7,500

	Total Assets
	$11,150

	Liabilities
	

	Account Payable
	$450

	Owner’s Equity
	

	Mr. Biniam Capital
	$10,700

	Total Liabilities and Owner’s Equity
	$11,150



Beta Taxi Company Statement of Cash Flow
For Month Ended January 31, 2016
	Cash Flows from Operating Activities:
	

	Cash Received from Customers
	$4,500

	Deduct: Cash Payments for Expenses And Payment to  Creditor
	2,600

	Net Cash Flow from Operating Activities
	$1,900

	Cash Flows from Investing Activities:
	

	Cash Payments for Acquisition of Land
	(7,500)

	Cash Flows from Financing Activities:
	

	Cash Received as Owner’s Investment
	$10,000

	Deduct: Cash Withdrawal by Owner
	1,000

	Net Cash Flow from Financing Activities
	9,000

	Net Cash Flow And January 31, 2016 Cash Balance
	$3,400


In general, the information generated by the income statement, is entered in to the statement of owner’s equity. And the information generated by the statement of owner’s equity is entered in the balance sheet in the list of owner’s equity. Moreover, the information generated by the statement of cash flow is entered in the balance sheet in the list of Assets.
1.7.2. Financial Statement for Corporation
Business enterprises with large amount of assets are usually organized as corporations and have many owners, called stockholders. The financial statements of corporations are similar to those of sole proprietorship and partnership except that retained earnings statement is prepared instead of statement of owner’s equity. The owner’s equity section of balance sheet is referred to as stockholders' equity rather than owner’s equity. In addition, the cash flows from financing activities for a corporation arise from the sale of capital stock and the payment of dividends, rather than from owner’s investment and drawings.
1. Statement of Retained Earning: The emphasis in reporting the changes in the stockholders’ equity is on the changes in retained earnings, or net income retained in the business. The changes in retained earning that have occurred during a period are reported in retained earnings statement. Change in the amount of earnings retained in the business would have resulted from (1) net income and (2) distribution of earnings, called dividends, to owners.

2. Balance Sheet: The only difference between the balance sheet of sole proprietorship or/and partnership and corporation is that the stockholders’ equity section is presented rather than owner’s equity.
3. Statement of Cash Flows: The only difference between cash flows statement of corporation and sole proprietorship or/and partnership is on the cash flows from financing activities section, i.e., cash flows arise from the sale of capital stock and the cash payments to stockholders in the form of dividends.
4. Income Statement: Similar with the income statement prepared for sole proprietorship or/and partnership. Illustrations of financial statements for the corporation type of business assuming ABC Taxi Company was established as corporation:

	Beta  Taxi Company

	Retained Earnings Statement

	For the Month Ended January 31, 2016

	Net Income for the Month
	$1,700
1,000

	Less: Dividends
	

	Retained Earnings, January 31, 2016
	$700

	
	

	Beta Taxi Company

	Balance Sheet
	

	January 31, 2016

	Assets
	

	Cash
	$3,400

	Supplies
	250

	Land
	7,500

	Total Assets
	$11,150

	Liabilities
	

	Account Payable
	$450

	Stockholders’ Equity
	

	Capital Stock
	$10,000

	Retained Earnings
	700

	Total Stockholders’ Equity
	10,700

	Total Liabilities and Stockholders’ Equity
	$11,150



	Beta Taxi Company
	

	Statement of Cash Flow
	

	For Month Ended January 31, 2016
	

	Cash Flows from Operating Activities:
	

	Cash Received from Customers
	$4,500

	Less: Cash Payments for Expenses And Payment to Creditor
	2,600

	Net Cash Flows from Operating Activities
	$1,900

	Cash Flows from Investing Activities:
	

	Cash Payments for Acquisition of Land
	(7,500)

	Cash Flows from Financing Activities:
	

	Cash Received from Sale of Capital Stock
	$10,000

	Less: Cash Payment for Dividends
	1,000

	Net Cash Flow from Financing Activities
	9,000

	Net Cash Flow and January 31, 2016 Cash Balance
	$3,400


1.8. [bookmark: _bookmark10]Summary
Explain the meaning of accounting. Accounting is the process of identifying, measuring recording and communicating the economic events of an organization (business or non-business) to interested users of the information. Accounting helps us in the allocation of scarce resources in an efficient and effective manner.
Identify the users and uses of accounting. (a) Management uses accounting information in planning controlling and evaluating business operations. (b) Investors (owners) judge the wisdom of buying, holding, or selling their financial interests on the basis of accounting data, i.e. to see how their investment is doing. (c) Creditors evaluate the risks of granting credit or lending money. Other groups of users include taxing authorities, regulatory agencies, customers, labor unions, and economic panniers. These users are grouped in to two: 1- Internal users and ii- External users.
Explain the meaning of generally accepted accounting principles: Generally accepted accounting principles are a common set of standards used by accountants.
Explain the meaning of business entity assumption, cost principle and the monetary unit assumption. The business entity concept states the economic events of a particular business should be identified separate from other entities and the owner’s personal records. The cost principle requires properties acquired by business enterprises to be recorded at actual amounts

paid and /or assumed in acquiring the properties. The monetary unit assumption requires only transactions capable of being expressed in terms of money be included in the accounting records of the business enterprise.
State the basic accounting equation and explain the meaning of assets, liabilities, and owner’s equity. The basic accounting equation is:  Assets = Liabilities + Owner’s Equity.
Assets are resources owned by a business, liabilities represent the claim of creditors on the total assets, and owner’s equity is the ownership claim on the total assets. It is often referred to as residual equity.
Analyze the effects of business transactions on the basic accounting equation. Each business transaction must have a dual effect on the accounting equation. For example, if an asset is decreased, there must be a corresponding (1) Increase in another asset, or (2) decrease in a specific liability, or (3) decrease in owner’s equity. After each transaction, the equality of assets to the sum of liabilities and Owner’s equity must be maintained.
Prepare an income statement, owner’s equity statement, and balance sheet. An income statement presents the revenues and expenses of a company for a specific period of time. An owner’s equity statement summarizes the changes in owner’s equity that have occurred for a specific period of time. A balance sheet reports the assets, liabilities, and owner’s equity of a business at a specific date.

1.9. [bookmark: _bookmark11]Self-Examination Questions
1. A profit-making business operating as a separate legal entity and in which ownership is divided into shares of stock is known as a:
A. Proprietorship.	C. partnership.
B. Service business.	D. corporation.
2. The resources owned by a business are called:
A. Assets.	C. the accounting equation.
B. Liabilities.	D. owner’s equity.
3. A listing of a business entity’s assets, liabilities, and owner’s equity as of a specific date is a(n):
A. Balance sheet.	C. statement of owner’s equity.
B. Income statement.	D. statement of cash flows.
4. If total assets increased $20,000 during a period and total liabilities increased $12,000 during the same period, the amount and direction (increase or decrease) of the change in owner’s equity for that period is a(n):
A. $32,000 increase.	C. $8,000 increase.
B. $32,000 decrease.	D. $8,000 decrease.
5. If revenue was $45,000, expenses were $37,500, and the owner’s withdrawals were $10,000, the amount of net income or net loss would be:
A. $45,000 net income.	C. $37,500 net loss.
B. $7,500 net income.	D. $2,500 net loss.
(Answers) 1: D, 2: A, 3: A, 4: C, 5: B

Problem (Workout)
1. Cecil Jameson, Attorney-at-Law, is a proprietorship owned and operated by Cecil Jameson. On July 1, 2016, Cecil Jameson, Attorney-at-Law, has the following assets and liabilities: cash, $1,000; accounts receivable, $3,200; supplies, $850; land, $10,000; accounts payable,
$1,530. Office space and office equipment are currently being rented, pending the construction of an office complex on land purchased last year. Business transactions during July are summarized as follows:
a. Received cash from clients for services, $3,928.
b. Paid creditors on account, $1,055.

c. Received cash from Cecil Jameson as an additional investment, $3,700.
d. Paid office rent for the month, $1,200.
e. Charged clients for legal services on account, $2,025.
f. Purchased supplies on account, $245.
g. Received cash from clients on account, $3,000.
h. Received invoice for License expense from government for July (to be paid on August 10), $1,635.
i. Paid the following: wages expense, $850; answering service expense, $250; utilities expense, $325; and miscellaneous expense, $75.
j. Determined that the cost of supplies on hand was $980; therefore, the cost of supplies used during the month was $115.
k. Jameson withdrew $1,000 in cash from the business for personal use.
Instructions
1. Determine the amount of owner’s equity (Cecil Jameson’s capital) as of July 1, 2016.
2. State the assets, liabilities, and owner’s equity as of July 1 in equation form similar to that shown in this chapter. In tabular form below the equation, indicate the increases and decreases resulting from each transaction and the new balances after each transaction.
3. Prepare an income statement for July, a statement of owner’s equity for July, and a balance sheet as of July 31, 2016.
4. Prepare a statement of cash flows for July.
Hint: balance of Cash $6,873, Account Receivable $2,225, Supplies $980, Land $10,000, Account Payable $2,355, Jameson, Capital $17,723 and Net income $1,503

1.10. [bookmark: _bookmark12]Glossary of Terms
Accounting - the process of identifying, measuring, recording, and communicating the economic events of an organization to interested users of the information.
Assets – Resources controlled by an entity.
Auditing – the examination of financial statements by a certified public accountant in order to express an opinion as to the fairness of presentation.
Balance Sheet – A financial statement that reports the assets, liabilities, and owner’s equity on a specific date.
Basic Accounting Equation -	Assets=Liabilities + owner’s equity
Bookkeeping – A part of accounting that involves only the recording of economic events.
Corporation – a business organized as a separate legal entity under state corporation law having ownership divided into transferable shares of stock.
Cost Principle – an accounting principle that states the assets should be recorded at their actual cost.
Drawings – Withdrawals of cash or other assets from the business for the owner’s personal use.
Economic (Business) Entity Assumption – An assumption that states a business enterprise must be given separate and distinct existence from the owners, creditors, customers and any other party.
Expenses - the cost of assets consumed or services used in the process of earning revenue.
Income statement- A financial statement that presents the revenues and expenses and resulting net income or net loss of a company for a specific period of time.
Investment by owner – the assets put in to the business by the owner
Liabilities – Represents the claim of creditors on the assets of the business.
Monetary unit assumption– An assumption stating that only transactions that can be expressed in terms of money be included in the accounting records of the business.
Net Income – the amount by which revenues exceed expenses.
Net loss – the amount by which expenses exceed revenues.
Owner’s Equity Statement – A financial statement that summarizes the changes in owner’s equity for a specific period of time.
Partnership – An association of two or more persons to carry on a business as co-owners for profit.
Private accounting-An area of accounting with in a company that involves such activities as cost accounting, budgeting, and accounting information systems.
Public Accounting – An area of accounting in which the accountant offers expert service to the general public on a fee bases.
Revenues – the gross increase in Owner’s equity, resulting from business activities entered in for the purpose of earning income. It is the amount charged to customers for services sold or goods delivered to them.
Tax Accounting - an area of public accounting involving tax advice, tax planning, and preparing tax returns.
Transactions – The economic events of the business recorded by the accountant.



[bookmark: _bookmark13]Chapter Two: The Accounting Cycle

After studying this chapter, you should be able to:OBJECTIVES OF THE CHAPTER

[a] Explain what an account is and how it helps in the recording process.

[b] Define debits and credits and explain their use in recording business transactions.
[c] Identify the basic steps in journalizing process.
[d] Explain what posting is and how it helps in the recording process.
[e] Prepare a trial balance and explain its purposes, prepare a worksheet.
[f] Explain the process of adjusting and closing entries.
[g] Describe the content and purpose of a post-closing trial balance.
[h] State the required steps in the accounting cycle.
2.1. [bookmark: _bookmark14]Introduction
The transaction completed by an enterprise during a specific period may cause increase or
decrease in many different asset, liability or owner’s equity items. An “account” is an individual accounting record of increases and decreases in a specific asset, liability, or owner’s equity item. For example, ABC Taxi Company (the company discussed in Chapter 1) would have separate accounts forAn “account” is an individual accounting record of increases and decreases in a specific asset, liability, or owner’s equity item. A group of related accounts that comprise a complete unit is called a “ledger”

cash, Supplies, Accounts Payable, Fares Revenue, Rent and Wages Expense, and so on. A group of related accounts that comprise a complete unit is called a “ledger”.
2.2. [bookmark: _bookmark15]Classification of Accounts
In general, there are five types of accounts. Balance sheet accounts are classified as assets, liabilities, and owner’s equity. Income statement accounts are classified as revenues and expenses.
Assets – assets are resources owned by the business entity. These resources can be physical items, such as cash and supplies, or intangibles that have value. Examples of intangible assets include patent rights, copyrights, and trademarks. Examples of other assets include accounts receivable, prepaid expenses (such as insurance), buildings, equipment, and land. Assets are categorized as current assets and plant assets.
a. Current assets- an assets that might be expected to be realized in cash or sold or used up within one year or less in business operation. It includes cash, accounts receivable, notes receivable, prepaid expenses, etc.
· Cash - is any medium of exchange that a bank will accept at face value, such as: bank deposit, currency, cheeks, etc.
· Notes receivable - is claims against debtors evidenced by written promise.
· Account receivable - is claim against debtors, but not less formal than notes receivable. Prepaid expenses - include supplies on hand and advance payments of expenses such as prepaid insurance and prepaid rent.
b. Plant assets- are an assets used in the business that are of a permanent or relatively fixed nature. Sometimes called as fixed assets. It includes equipment, machinery, buildings, land, etc. except land, plant assets gradually wear out or lose their useful life.
Liabilities are debts owed to outsiders (creditors). Liabilities are often identified on the balance sheet by titles that include the word payable. Examples of liabilities include accounts payable, notes payable, and wages payable. Cash received before services are delivered creates a liability to perform the services. There are two categories of liabilities i.e. current liabilities and long term liabilities.
a. Current liabilities – are those liabilities that will be due within one year or less. It includes account payable, notes payable, salary payable, etc.
b. Long term liabilities – are those liabilities that will be due after long time. When a note is accompanied by security in the form of mortgage, the obligation referred as mortgage note payable.
Owner’s Equity – it is the residual claim against the assets of the business after the total liabilities are deducted. For corporations, it is termed as stockholder’s equity. Stockholder equity in corporation might has more than two components i.e. capital stock and retained earnings. Capital stock is the investment of stockholders in corporation type of business, also retained earnings is the net income retained in the business.
· Drawing represents the amount of withdrawal made by the owner of sole proprietor ship. For corporation, dividend represents the distribution made for stockholders of the corporation.
Revenues – are the gross increases in owner’s equity as a result of selling of goods, rendering of service etc. for customers. Examples of revenues include sales, fees earned, fares earned, commissions revenue, and rent revenue.
Expenses result from using up assets or consuming services in the process of generating revenues. Examples of expenses include wages expense, rent expense, utilities expense, supplies expense, and miscellaneous expense. Thus, expenses are costs that were incurred during generating revenue.There are five types of accounts: assets, liabilities, owner’s equity, revenues and expenses

2.3. [bookmark: _bookmark16]Chart of Accounts 
The number of accounts maintained by specific business affected by the type of business operation, the volume of business, managerial decision, tax authority, etc. A list of accounts in the ledger is called chart of account. There are five types of accounts i.e. assets accounts, liability accounts, owner’s equity accounts, revenue accounts, and expense accounts. Accounts in the ledger may be numbered consecutively such as: asset accounts represented by 1, liability accounts represented by 2, owner’s equity accounts represented by 3, revenue accounts represented by 4, and expense accounts represented by 5.
To illustrate: chart of accounts for balance sheet accounts and income statement accounts are the followings: 11 cash, 12 AR, 13 Supplies, 14 Prepaid Rent, 21 AP, 22 Salary Payable, 31 Capital, 32 Drawing, 33 Income Summary, 41 Sales, 51 Supplies Expense, 52 Salary Expense, 53 Rent expense, 54, Depreciation Expense etc.
2.4. [bookmark: _bookmark17]Nature of an Account
The simplest form of an account has three parts: (1) a title, which is the name of the item recorded in the account; (2) a space for recording increases in the amount of the item; and (3) a space for recording decreases in the amount of the item. This form of an account is known as a T account, because its similarity to the letter “T”.
Title
Debit
Credit

The term debit indicates the left side of an account, and credit indicates the right side. They are commonly abbreviated as Dr. for debit and Cr. for credit. They do not mean increase or decrease, as is commonly thought. We use the terms debit and credit repeatedly in the recording process to describe where entries are made in accounts. For example, the act of entering an amount on the left side of an account is called debiting the account. Making an entry on the right side is crediting the account.
2.4.1. General Rules of Debit and Credit


Debit
· Increase in asset accounts
· Decrease in liability accounts
· Decrease in owner’s equity accounts
· Increase in Drawing/Withdrawals
· Decrease in Revenue
· Increase in Expense

Credit
· Decrease in asset accounts
· Increase in liability accounts
· Increase in owner’s equity accounts
· Decrease in Drawing/Withdrawals
· Increase in Revenue
· Decrease in Expense


2.4.1. Expanded Rules of Debit and Credit for Balance Sheet Accounts
Balance Sheet Accounts


Assets Asset Accounts
Debit	Credit
for Increase	for decrease

Liabilities Liability Accounts
Debit	Credit
for Decreases	for increases
Owner’s Equity Debit	Credit
for decreases	for increases


Every business transaction affects a minimum of two accounts. The transaction initially entered in a record called journal. The process of recording a transaction in the journal is called journalizing. The form of presentation is called a journal entry.
Based on the type of account Debit used to record either increases or decreases and
Credit used to record either increases or decreases.

Illustration: Davis Carl establishes a business, to be known as Carl Repair, by initially depositing $ 3,500 cash in bank. The journal entry for the above transaction could be as follows:
Cash	3,500
Carl Capital	3,500
The data in the journal entry are transferred to the appropriate accounts by a process known as
posting. The accounts after posting the above journal entry appear as follow: Cash	Carl Capital$3,500
$3,500


Carl purchased equipment at a cost of $ 2,800; Carl paid $ 1,800 in cash and agreed to pay the remaining $ 1,000 within one week.
Equipment	2, 800
Cash	1,800
Account payable	1, 000
The above transactions summarized in the following T accounts as follow:
Cash	Equipment	Account Payable	Carl Capital
			3,500	1,800
1,700
2800
1,000
3,500

This equality of debit and credit for each transaction is inherent in the equation A= L + OE. It is because duality that the system is known as double – entry accounting.
2.1.1. Income Statement Accounts
Revenue increases owner’s equity. Just as increases in owner’s equity are recorded as credits, increases in revenues during an accounting period are recorded as credits. Expenses have the effect of decreasing owner’s equity, and just as decreases in owner’s equity are recorded as debits, increase in expenses accounts are recorded as debits.





Income statement
Debit for decreases in Owner’s Equity
                        Expense Accounts                                            Revenue Accounts
             
                      Debit for Increases  Credit for decrease                Debit for Decrease  Credit for increase

 At the end of the accounting period, all revenue and expense account balances are transferred to a summarizing account and the account then said to be closed. Because revenue and expense accounts are periodically closed, they are called temporary accounts or nominal accounts.
2.2. [bookmark: _bookmark18]Journals and Accounts
The initial record of each transaction is evidenced by a business document, such as sales tickets, or bills. On the basis of evidence provided by the business documents, the transactions are entered in chronological order in a journal. The amounts of debits and credits in the journal are transferred or posted to the accounts in the ledger. The following two diagrams shows the standard format of journal and ledger.
THE STANDARD FORM OF JOURNAL

	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	1
	March 2016
	1
	
	
	
	
	1

	2
	
	
	
	
	
	
	2

	
	
	
	
	
	
	
	


THE STANDARD FORM OF LEDGER
Account: 		Account No. 	

	
	
Date
	
Item
	Post Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	1
	
	
	
	
	
	
	
	
	1

	2
	
	
	
	
	
	
	
	
	2


Companies initially record transactions in chronological order (the order in which they occur). Thus, the journal is referred to as the book of original entry. For each transaction the journal shows the debit and credit effects on specific accounts. Companies may use various kinds of journals, but every company has the most basic form of journal, a general journal. Typically, a general journal has spaces for dates, account titles and explanations, references, and two amount columns. See the format of the journal in the above diagram. Whenever we use the term “journal” in this module without a modifying adjective, we mean the general journal. The journal makes several significant contributions to the recording process:
a. It discloses in one place the complete effects of a transaction.
b. It provides a chronological record of transactions.
c. It helps to prevent or locate errors.
A complete entry consists of (1) the date of the transaction, (2) the accounts and amounts to be debited and credited, and (3) a brief explanation of the transaction.


Note the steps in Journalizing!
1. The date of the transaction is entered in the Date column.
2. The debit account title (that is, the account to be debited) is entered first at the extreme left margin of the column headed “Account Titles” and the amount of the debit is recorded in the Debit column.
3. The credit account title (that is, the account to be credited) is indented and entered on the next line in the column headed “Account Titles” and the amount of the credit is recorded in the Credit column.
4. If possible, a brief explanation of the transaction appears on the line below the credit account title. A space is left between journal entries.
5. The column titled Post Ref. (which stands for Reference) is left blank when the journal entry is made. This column is used later when the journal entries are transferred to the ledger accounts.

2.2.1. Illustration of Journalizing and Posting
Ann Hill established a photographic business known as Hill Photographic Studio:
March 1. The following assets were invested in the enterprise: cash $ 3,500; accounts receivable $950; supplies $1200 and photographic equipment $15,000.
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	1
	March 2016
	1
	Cash
Account receivable Supplies
Photographic equipment Ann Hill, capital
	
	3,500
950
1,200
15,000
	


20,650
	1

	
	
	
	
	
	
	
	


March 1. Ann Hill paid $2,400 for house rental contract; the payment is for 3 month rent.
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	1
	Prepaid rent
Cash
	
	2,400
	2,400
	

	
	
	
	
	
	
	
	


March 4. Purchased photographic equipment on account from Palmer Photographic Equipment Inc. for $2,500:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	4
	Photographic equipment Account payable
	
	2,500
	2,500
	


March 5. Received $850 from customers in payment of their accounts:
		
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	5
	Cash
Account receivable
	
	850
	850
	


March 6. Paid $125 for newspaper advertisement:

	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	6
	Miscellaneous expense
cash
	
	125
	125
	


March 10. Paid $500 to Palmer Photographic Equipment Inc. to apply on the $2,500 debt owed
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	10
	Account payable
cash
	
	500
	500
	


March 13. Paid receptionist $575 for two week’s salary:

	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	13
	Salary expense
Cash
	
	575
	575
	


March 16. Received $1,980 from sales for the first half of March:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	16
	Cash
Sales
	
	1,980
	1,980
	


March 27. Purchased and paid $650 for supplies:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	27
	Supplies
Cash
	
	650
	650
	


March 27. Paid receptionist $575 for two week’s salary:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	27
	Salary expense
Cash
	
	575
	575
	


March 31. Paid $69 for telephone bill for the month:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	31
	Utility expense
cash
	
	69
	69
	


March 31. Paid $175 for electricity bill for the month:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	31
	Utility expense
cash
	
	175
	175
	


March 31. Received $1,870 from sales for the second half:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	31
	Cash
Sales
	
	1,870
	1,870
	


March 31. Sales on account totaled $1,675 for the month:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	31
	Account receivable
Sales
	
	1,675
	1,675
	


March 31. Hill withdrew $1,500 for her personal use:
	
	Date
	Description
	Post Ref.
	Debit
	Credit
	

	
	March 2016
	31
	Ann Hill drawing
cash
	
	1,500
	1,500
	


2.2.2. Posting of the above illustration to the account (ledger)
Transferring journal entries to the ledger accounts is called posting. This phase of the recording process accumulates the effects of journalized transactions into the individual accounts. Posting involves the following steps.
1. In the ledger, in the appropriate columns of the account(s) debited, enter the date, journal page, and debit amount shown in the journal.
2. In the reference column of the journal, write the account number to which the debit amount was posted.
3. In the ledger, in the appropriate columns of the account(s) credited, enter the date, journal page, and credit amount shown in the journal.
4. In the reference column of the journal, write the account number to which the credit amount was posted.
Posting should be performed in chronological order. That is, the company should post all the debits and credits of one journal entry before proceeding to the next journal entry. Postings should be made on a timely basis to ensure that the ledger is up to date.

	Note the steps in the Process of Posting !
1. Post to debit account–date, journal page number, and amount.
2. Enter debit account number in journal reference column.
3. Post to credit account–date, journal page number, and amount.
4. Enter credit account number in journal reference column.










Activity
Question 1: Define Asset, liability, owner’s equity, revenue and expense.	



Account: Cash	Account No. 11

	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	1
	
	
	3500
	
	3500
	
	

	
	
	1
	
	
	
	2400
	1100
	
	

	
	
	5
	
	
	850
	
	1950
	
	

	
	
	6
	
	
	
	125
	1825
	
	

	
	
	10
	
	
	
	500
	1325
	
	

	
	
	13
	
	
	
	575
	750
	
	

	
	
	16
	
	
	1980
	
	2730
	
	

	
	
	20
	
	
	
	650
	2080
	
	

	
	
	27
	
	
	
	575
	1505
	
	

	
	
	31
	
	
	
	69
	1436
	
	

	
	
	31
	
	
	
	175
	1261
	
	

	
	
	31
	
	
	1870
	
	3131
	
	

	
	
	31
	
	
	
	1500
	1631
	
	


Account: Account Receivable (AR)	Account No. 12
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	1
	
	
	950
	
	950
	
	

	
	
	5
	
	
	
	850
	100
	
	

	
	
	31
	
	
	1675
	
	1775
	
	


Account: Supplies	Account No. 14
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	1
	
	
	1200
	
	1200
	
	

	
	
	20
	
	
	650
	
	1850
	
	


Account: Prepaid Rent	Account No. 15
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	1
	
	
	2400
	
	2400
	
	


Account: Photographic Equipment	Account No. 18
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	1
	
	
	15000
	
	15000
	
	

	
	
	4
	
	
	2500
	
	17500
	
	


Activity
Question 2: What is mean by journal and ledger?


Account: Account Payable (AP)	Account No. 21

	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	1
	
	
	
	2500
	
	2500
	

	
	
	
	
	
	500
	
	
	2000
	


Account: Ann Hill, Capital	Account No. 31
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	1
	
	
	
	20650
	
	20650
	


Account: Ann Hill, Drawing	Account No. 32
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	31
	
	
	1500
	
	1500
	
	


Account: Sales	Account No. 41
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	16
	
	
	
	1980
	
	1980
	

	
	
	31
	
	
	
	1670
	
	3650
	

	
	
	31
	
	
	
	1675
	
	5525
	


Account: Salary Expense	Account No. 52
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	13
	
	
	575
	
	575
	
	

	
	
	27
	
	
	575
	
	1150
	
	


Account: Utility Expense	Account No. 57
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	6
	
	
	125
	
	125
	
	

	
	Mar
	31
	
	
	69
	
	194
	
	

	
	
	31
	
	
	175
	
	244
	
	


Account: Miscellaneous Expense	Account No. 59
	
	
Date
	
Item
	Post
Ref.
	
Debit
	
Credit
	Balance
	

	
	
	
	
	
	
	Debit
	Credit
	

	
	Mar
	6
	
	
	125
	
	125
	
	


2.3. [bookmark: _bookmark19]Trial Balance
The equality of debits and credits in the ledger should be verified at the end of each accounting period, such a verification, which is called a trial balance. Example for Ann Hill photographic studio is as follows:





Hill Photographic Studio Trial Balance March 31, 2016
	Cash
	1631
	

	Accounts Receivable
	1775
	

	Supplies
	1850
	

	Prepaid Rent
	2400
	

	Photographic Equipment
	17500
	

	Accounts Payable
	
	2,000

	Ann Hill, Capital
	
	20,650

	Ann Hill Drawing
	1500
	

	Sales
	
	5,525

	Salary Expense
	1150
	

	Utility Expense
	244
	

	Miscellaneous Expense
	125
	

	
	28,175
	28,175


2.3.1. Proof Provided by the Trial Balance
The trial balance does not provide complete proof of accuracy of the ledger. It indicates only that the debits and credits are equal. If the two totals of trial balance are not equal, it is probably due to one or more of the following types of errors:
1. Error in preparing trial balance:
a. One of the columns of the trial balance was incorrectly added.
b. The amount of an account balance was incorrectly recorded on the trial balance.
c. A debit balance was recorded as credit, or vice versa, or a balance was omitted entirely.
2. Error in determining the account balance:
a. A balance was incorrectly computed.
b. A balance was entered in the wrong balance column.
3. Error in recording a transaction in the ledger
a. An erroneous amount was posted to the account.
b. A debit entry was posted as a credit, or vice versa.
c. A debit or credit posting was omitted.
Among the types of errors that will not cause an inequality in the trial balance totals are the following:
1. Failure to record a transaction or to post a transaction.
2. Recording the same erroneous amount for both the debit and credit parts of a transaction.
3. Recording the same transaction more than one.
4. Posting a part of a transaction correctly as a debit or credit but not to the wrong account.


2.3.2. DISCOVERY OF ERRORS
The existence of an error can be determined in various ways:
1. By audit procedures
2. By chance discovery, or
3. Through the medium of the trial balance.
2.3.3. TYPES OF ERROR
a. Addition: For example, a difference of $10, $100, or $1,000 between totals is frequently the result of error in addition.
b. Omission: A difference between totals can happen due to the omission of a debit or a credit posting or, if it is divisible evenly by 2, to the posting of a debit or a credit, or vice versa. For example, if the debit and credit totals of a trial balance are $ 20,640 and $20,236 respectively, the difference of $404 may indicate that a credit posting of that amount was omitted or that a credit of $202 was erroneously posted as a debit.
c. Transpositions: It is the erroneous rearrangement of digit, such as writing $ 542 as $ 524 or $452.
d. Slide: It is the entire number is erroneously moved one or more spaces to the right or the left, such as writing $542.00 as $54200 or $54.20.
2.4. [bookmark: _bookmark20]Matching Principle
Revenues and expenses may be reported on the income statement by: (1) the cash basis of accounting, or (2) the accrual basis of accounting. When the cash basis is used, revenues are reported in the period, in which cash is received, and expenses are reported in the period in which cash is paid. I.e. net income or net loss is the difference between cash received from revenues and cash disbursements for expenses. When the accrual basis of accounting is used, revenues are reported in the period in which they are earned, and expenses are reported in the period in which they are incurred in an attempt to produce revenues.
· [bookmark: _bookmark21][image: ][image: ][image: ]Most enterprises use the accrual basis of accounting. Generally accepted accounting principles (GAAP) and IFRS  requires the use of the accrual basis, so that revenues recognized are matched with the expenses incurred in producing the revenues.
2.5. Adjustments
Some of the trial balance amounts are not correct. The amounts listed for prepaid expenses are normally overstated. This is because of the day to day consumption or expiration of these assets has not been recorded. There are two effects on the ledger when the daily reduction in prepaid expenses is not recorded:
1. Asset accounts are overstated, and
2. Expense accounts are understated, then the net income will be overstated or the net loss understated.
For example, salary expense incurred between the last payday and the end of the accounting period would not be recorded in the account. The entries required to record at the end of an accounting period to bring the accounts up to date and to assure the proper matching of revenues and expenses are called adjusting entries.
The matching principle, as explained earlier requires that revenues be recognized and recorded in the period it is earned. Thus the matching principle stresses that in order to measure income expenses incurred to produce revenues must be matched (associated) with the revenue generated in the same accounting period.
At the end of an accounting period, adjusting entries are needed so that all revenues earned is reflected in the financial statements regardless of whether it has been collected. Adjusting entries are also needed for expenses to assure that all expenses incurred are matched against the revenues of the current period regardless of when cash payment of the expense occurs. Thus adjusting entries help in achieving the goals of accrual accounting – which states recording revenues when it is earned and recording expenses when the related goods and services are used,
i.e. when expenses are incurred.
Accountants use adjusting entries to apply accrual accounting to transactions that span more than one accounting period. That is, adjusting entries are needed whenever transactions affect the revenues on expense of more than one accounting period.
Adjusting entries are journal entries that are required at the end of an accounting period to bring the ledger up to date. Adjusting entries can be classified as either deferrals or accruals.
· Deferrals - 1. Prepaid Expenses. Expense that are paid in cash before they are used or consumed.
2. Unearned Revenues. Revenues received in cash before delivering goods or services.
· Accruals - 1. Accrued Expenses. Expenses incurred but not yet paid in cash or recorded.
2. Accrued revenues. Revenues earned but not yet received in cash or recorded.
Prepaid expenses (deferred expenses)
It is already paid before using the service or property. Such as: prepaid rent, prepaid insurance.
Illustration: The inventory of supplies on March 31 is determined that $890 is on hand, the amount to be moved from asset account to expense account is $960 i.e. (1,850-890=960).
Supplies Expense	960
Supplies	960
Prepaid rent was used for one month (March 1 up to March 31).
Rent Expense	800
Prepaid Rent	800
Activity
Question 3: What is the purpose of trial balance?	

Plant assets: As time passes, equipment does lose its capacity to provide useful service. This decrease in usefulness is a business expense, which is called depreciation. This expired portion of the cost of plant asset is both an expense and a reduction in the asset. The adjusting entry to record is depreciation expense debited and accumulated depreciation credited.
Illustration: The estimated amount of depreciation of the photographic equipment for the month is assumed to be $175:
Depreciation expense	175
Accumulated Depreciation – Photographic Equipment	175
Accrued Expenses (Liabilities)
Accrued expense is an accumulated expense that is unpaid and unrecorded, such as: unpaid and unrecorded amount of salary for employees. The accrued expense and the related liabilities must be recorded in the account by the adjusting entry.
Illustration: The debit of $ 575 on March 13 and 27 in the salary expense account were biweekly payments on Fridays for the payroll periods ended on those days. The salaries expense on Monday and Tuesday, March 30 and 31 total $ 115.
Salary Expense	115
Salary Payable	115
2.6. [bookmark: _bookmark22]Work Sheet
A type of working paper frequently used by accountants prior to preparation of financial statements is called work sheet. Work sheet is not a required report or a financial statement (it is not available to external decision makers), yet using of work sheet has several benefits, such as:
· Aids the preparation of financial statements.
· Reduce the possibilities of errors.
· Links accounts and adjustments to their impacts in the financial statements.
Work sheet has an account title column and ten money columns, ranged in five parts of debit and credit columns. The main headings are: adjustments, adjusted trial balance, income statement and balance sheet.
Trial Balance Column: The trial balance data can be assembled directly on the work sheet form or can be prepared on another sheet and then copied on to the work sheet form.
Adjustments Column: Both the debit and credit parts of an adjustment should be inserted on the appropriate lines before going on to another adjustment.
a. Supplies:	Supplies account	$1,850
Less: Supplies on hand	890 Supplies Expense	 960
b. Rent:	Prepaid rent (for 3 month)	$2,400
Less: Remaining prepaid rent (2 month)	1,600
Rent Expense for March	800
c. Depreciation: depreciation of photographic equipment is estimated to be $175 for the month:
Depreciation expense	175
Accumulated depreciation	175
d. Salaries: Salaries accrued but not yet paid at the end of the month of March is $115. This is an increase in expense and an increase in liability.
Adjusted Trial Balance: The data in the trial balance columns are combined with the adjustments data and extend to the adjusted trial balance columns.
Income Statement and Balance Sheet: The data in the adjusted trial balance columns are extended to one of remaining four columns. The amounts of assets, liabilities, owner’s equity and drawing (or dividends) are extended to the balance sheet columns; and the revenues and expenses are extended to income statement columns.
The net income or net loss for the period is the amount of the difference between the totals of the two income statement columns. If the credit column total is greater than the total of debit column, the excess is the net income. The net balance will be transferred to the capital account (or retained earnings account) in the ledger. This transfer is accomplished on the work sheet by entries in the income statement and balance sheet.
Steps in Preparing a Worksheet
We will use the March 31 trial balance and adjustment data of Hill Photographic Studio to illustrate how to prepare a worksheet. We describe each step of the process and demonstrate these steps in the following pages.
STEP 1: Prepare a Trial Balance on the Worksheet
Enter all ledger accounts with balances in the account titles space. Enter debit and credit amounts from the ledger in the trial balance columns. This trial balance is the same one that appears in section 2.6.
STEP 2: Enter Adjustments in the Adjustments columns
Enter all adjustments in the adjustments columns. In entering the adjustments, use applicable trial balance accounts. If additional accounts are needed, insert them on the lines immediately below the trial balance totals. A different letter identifies the debit and credit for each adjusting entry. The term used to describe this process is keying. Companies do not journalize the adjustments until after they complete the worksheet and prepare the financial statements.
The adjustments for Pioneer Advertising Agency are the same as the adjustments illustrated previously as follows.
[a] Supplies Expense	960
[b] Rent Expense for March	800
[c] Depreciation of photographic equipment is estimated to be $175 for the month:
[d] Salaries accrued but not yet paid at the end of the month of March is $115.
After Hill Photographic Studio has entered all the adjustments, the adjustments columns are totaled to prove their equality.
STEP 3: Enter adjusted balances in the adjusted trial balance columns
Hill Photographic Studio determines the adjusted balance of an account by combining the amounts entered in the first four columns of the worksheet for each account. For example, the Prepaid Rent account in the trial balance columns has a $2400 debit balance and a $800 credit in the adjustments columns. The result is a $1600 debit balance recorded in the adjusted trial balance columns. For each account, the amount in the adjusted trial balance columns is the balance that will appear in the ledger after journalizing and posting the adjusting entries. After Hill Photographic Studio has entered all account balances in the adjusted trial balance columns, the columns are totaled to prove their equality. If the column totals do not agree, the financial statement columns will not balance and the financial statements will be incorrect.
STEP 4: Extend adjusted trial balance amounts to appropriate financial statement columns
The fourth step is to extend adjusted trial balance amounts to the income statement and balance sheet columns of the worksheet. For instance, enters Cash in the balance sheet debit column, and Account Payable in the credit column. Extends Accumulated Depreciation— Equipment to the balance sheet credit column; the reason is that accumulated depreciation is a contra-asset account with a credit balance. Because the worksheet does not have columns for the owner’s equity statement, extends the balance in owner’s capital to the balance sheet credit column. In addition, extends the balance in owner’s drawings to the balance sheet debit column because it is an owner’s equity account with a debit balance. Enter the expense and revenue accounts such as depreciation expense, wages expense, and sales revenue in the appropriate income statement columns.
Step 5: Total the statement columns, compute the net income (or net loss), and complete the worksheet
Now total each of the financial statement columns. The net income or loss for the period is the difference between the totals of the two income statement columns. If total credits exceed total debits, the result is net income. In such a case, as shown in Illustration for Hill Photographic Studio “Net Income” inserted in the account titles space. Then enter the amount in the income statement debit column and the balance sheet credit column. The debit amount balances the income statement columns; the credit amount balances the balance sheet columns. In addition, the credit in the balance sheet column indicates the increase in owner’s equity resulting from net income.
What if total debits in the income statement columns exceed total credits? In that case, the company has a net loss. Enter the amount of the net loss in the income statement credit column and the balance sheet debit column. After entering the net income or net loss, the company determines new column totals. The totals shown in the debit and credit income statement columns will match. So will the totals shown in the debit and credit balance sheet columns. If either the income statement columns or the balance sheet columns are not equal after the net income or net loss has been entered, there is an error in the worksheet.

Hill Photographic Studio Work Sheet
For the Month Ended March 31, 2016
	
Account Title
	Trial Balance
	Adjustments
	Adjusted Trial
balance
	Income
Statement
	Balance Sheet

	
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	1631
	
	
	
	1631
	
	
	
	1631
	

	Accounts receivable
	1775
	
	
	
	1775
	
	
	
	1775
	

	Supplies
	1850
	
	
	(a) 960
	890
	
	
	
	890
	

	Prepaid Rent
	2400
	
	
	(b) 800
	1600
	
	
	
	1600
	

	Photo. Equip.
	17500
	
	
	
	17500
	
	
	
	17500
	

	Accounts Payable
	
	2000
	
	
	
	2000
	
	
	
	2000

	Ann Hill Capital
	
	20650
	
	
	
	20650
	
	
	
	20650

	Ann Hill Drawing
	1500
	
	
	
	1500
	
	
	
	1500
	

	Sales
	
	5525
	
	
	
	5525
	
	5525
	
	

	Salary Expense
	1150
	
	(d)115
	
	1265
	
	1265
	
	
	

	Utility Expense
	244
	
	
	
	244
	
	244
	
	
	

	Miscellaneous Expense
	125
	
	
	
	125
	
	125
	
	
	

	
	28175
	28175
	
	
	
	
	
	
	
	

	Supplies Expense
	
	
	(a)960
	
	960
	
	960
	
	
	

	Rent Expense
	
	
	(b)800
	
	800
	
	800
	
	
	

	Depreciation Exp.
	
	
	(c)175
	
	175
	
	175
	
	
	

	Accumulated Depr. P.E
	
	
	
	(c )175
	
	175
	
	
	
	175

	Salaries Payable
	
	
	
	(d) 115
	
	115
	
	
	
	115

	
	
	
	2050
	2050
	28465
	28465
	3569
	5525
	24896
	22940

	Net income
	
	
	
	
	
	
	1956
	
	
	1956

	
	
	
	
	
	
	
	5525
	5525
	24896
	24896


2.10. [bookmark: _bookmark23]Financial Statements
Work sheet is an aid in preparing financial statement. The income statement, statement of owner’s equity and balance sheet prepared from work sheet. For Hill Photographic Studio, the financial statements are presented as follows:
Hill Photographic Studio Income Statement
For Month Ended March 31, 2016
	Sales
	5,525

	Operating Expenses:
	

	Salary Expense
	1,265

	Supplies Expense
	960

	Rent Expense
	800

	Utility Expense
	244

	Depreciation expense
	175

	Miscellaneous Expense
	125

	Total Operating Expenses
	3,569

	Net Income
	1,956



Hill Photographic Studio Statement of Owner’s Equity
For Month Ended March 31, 2016
	Ann Hill Capital, March 1, 2016………………
	20,650

	Net Income for the Month……………………...
	1956

	Less: Withdrawals……………………………
	1500

	Increase in Owner’s Equity………………..…..
	456

	Ann Hill Capital, March 31, 2016……………
	21106


Hill Photographic Studio Balance Sheet March 31, 2016
	Assets
	
	

	Current Assets:
	
	

	Cash
	1,631
	

	Account Receivable
	1,775
	

	Supplies
	890
	

	Prepaid Rent
	1,600
	

	Total Current Assets
	
	5,896

	Plant Assets:
	
	

	Photographic Equipment
	17,500
	

	Less: Accumulated Depreciation
	175
	17,325

	Total Assets
	
	23,221

	Liabilities
	
	

	Current Liabilities:
	
	

	Account Payable
	2,000
	

	Salaries Payable
	115
	

	Total Liabilities
	
	2,115

	Owner’s Equity
	
	

	Ann Hill, Capital
	
	21,106

	Total Liabilities and owner’s Equity
	
	23,221


2.11. [bookmark: _bookmark24]Journalizing and Posting Adjusting Entries
At the end of the accounting period, the adjusting entries appearing in the work sheet are recorded in the journal and posted to the ledger. The adjusting entries are dated as of the last day of period. The adjusting entries for Hill Photographic Studio as of March 31 are as follows:
Supplies Expense	960
Supplies…	960
Rent Expense	800
Prepaid rent…	800

Depreciation Expense	175
Accumulated depreciation…	175
Salary Expense	115
Salary Payable…	115
2.12. [bookmark: _bookmark25]Closing Entries
The revenue, expense, and drawing (or dividends) accounts are temporary accounts used in classifying and summarizing changes in the owner’s equity during the accounting period. At the end of the period, the net effect of the balances in these accounts must be recorded in the permanent capital (or retained earnings) account. The balance must also be removed from temporary accounts, these processes done by closing entries.
Journalizing and Posting Closing Entries
An account title income summary is used for summarizing the data in the revenue and expense accounts (used only at the end of accounting period). And opened and closed during the closing process. Four entries are required to close temporary account. They are as follows:
1. Each revenue is debited and income summary is credited for the total revenues.
2. Each expense is credited and income summary is debited for the total of expenses.
3. Income summary is debited for the amount of its balance if income is generated and capital account is credited. If it is net loss, capital account is debited and income summary is credited for the amount of its balance.
4. The drawing account is credited for the amount of its balance, and capital account
debited
For corporation type of business, entry 3 is closed to retained earnings account and entry 4, the dividend is closed to retained earnings account. Closing entry for Hill Photographic Studio is as follows:
Sales…	5525
Income Summary	5525
Income Summary	3569
Salary Expenses…	1265
Supplies Expenses…	960
Rent Expenses…	800
Utility Expense	244
Depreciation Expenses…	175
Miscellaneous Expenses…	125

Income Summary	1956
Ann Hill, Capital…	1956
Ann Hill, Capital…	1500
Ann Hill drawing	1500
After journalizing, the journal entries should be posted to the ledger. The sales, expenses, income summary, and drawing accounts then get zero balance.
2.13. [bookmark: _bookmark26]Post-Closing Trial Balance
The last procedure of the accounting cycle is the preparation of post-closing trial balance after all of the temporary accounts has been closed. The purpose of the post-closing trial balance is to make sure that the ledger is balance at the beginning of the new accounting period. The following is Hill Photographic Studio post-closing trial balance as of March 31, 2016:
Hill Photographic Studio Post Closing Trial Balance March 31, 2016
	
	Cash
	1,631
	
	

	
	Accounts receivable
	1,775
	
	

	
	Supplies
	890
	
	

	
	Prepaid Rent
	1,600
	
	

	
	Photographic Equipment
	17,500
	
	

	
	Accumulated Depreciation
	
	175
	

	
	Accounts Payable
	
	2,000
	

	
	Salary Payable
	
	115
	

	
	Ann Hill, Capital
	
	21,106
	

	
	
	23,396
	23,396
	


2.14. [bookmark: _bookmark27]Fiscal Year
The annual accounting period adopted by a business is known as its fiscal year. Fiscal years begin with the first day of the month selected and end on the last day of the following twelfth month. The period most commonly used is the calendar year. Other periods are not unusual, especially for businesses organized as corporations. For example, government organizations in Ethiopia fiscal year starts July 8 (Hamle 1, 2008) of the current year and ends July 7 (Sene 30, 2009) of the next year. In general, the maximum length of an accounting period is usually one year (12 months).

2.15. [bookmark: _bookmark28]Summaries of the Accounting Cycle
The principal accounting sequence of a fiscal period called the accounting cycle. The most significant output of the accounting cycle is the financial statements.

                 The followings are the accounting cycle sequence:
1. Transactions are analyzed and recorded in a journal (journal entries).
2. Journal entries posted to the ledger.
3. Trial balance is prepared, adjustments are made and work sheet is completed.
4. Financial statements are prepared.

5. Adjusting and closing entries are journalized.
6. Adjusting and closing entries are posted to the ledger.
7. Post-closing trial balance is prepared

2.16. [bookmark: _bookmark29]Self-Examination Questions
1. Which of the following statements about an account is true?
a. In its simplest form, an account consists of two parts.
b. An account is an individual accounting record of increases and decreases in specific asset, liability, and owner’s equity items.
c. There are separate accounts for specific assets and liabilities but only one account for owner’s equity items.
d. The left side of an account is the credit or decrease side.
2. Debits:
a. increase both assets and liabilities.
b. decrease both assets and liabilities.
c. increase assets and decrease liabilities.
d. decrease assets and increase liabilities.
3. A revenue account:
a. is increased by debits.
b. is decreased by credits.
c. has a normal balance of a debit.
d. is increased by credits.
4. Accounts that normally have debit balances are:
a. assets, expenses, and revenues.
b. assets, expenses, and owner’s capital.
c. assets, liabilities, and owner’s drawings.
d. assets, owner’s drawings, and expenses.
5. Which of the following is not part of the recording process?
a. Analyzing transactions.
b. Preparing a trial balance.
c. Entering transactions in a journal.
d. Posting transactions.
6. The purchase of supplies on account should result in:
a. a debit to Supplies Expense and a credit to Cash.
b. a debit to Supplies Expense and a credit to Accounts Payable.

c. a debit to Supplies and a credit to Accounts Payable.
d. a debit to Supplies and a credit to Accounts Receivable.
7. The order of the accounts in the ledger is:
a. assets, revenues, expenses, liabilities, owner’s capital, owner’s drawings.
b. assets, liabilities, owner’s capital, owner’s drawings, revenues, expenses.
c. owner’s capital, assets, revenues, expenses, liabilities, owner’s drawings.
d. revenues, assets, expenses, liabilities, owner’s capital, owner’s drawings.
8. A ledger:
a. contains only asset and liability accounts.
b. should show accounts in alphabetical order.
c. is a collection of the entire group of accounts maintained by a company.
d. is a book of original entry.
9. Posting:
a. normally occurs before journalizing.
b. transfers ledger transaction data to the journal.
c. is an optional step in the recording process.
d. transfers journal entries to ledger accounts.
10. Before posting a payment of $5,000, the Accounts Payable of Senator Company had a normal balance of $16,000. The balance after posting this transaction was:
a. $21,000.	c. $11,000.
b. $5,000.	d. Cannot be determined.
11. A trial balance:
a. is a list of accounts with their balances at a given time.
b. proves the mathematical accuracy of journalized transactions.
c. will not balance if a correct journal entry is posted twice.
d. proves that all transactions have been recorded.
12. Adjustments for prepaid expenses:
a. decrease assets and increase revenues.
b. decrease expenses and increase assets.
c. decrease assets and increase expenses.
d. decrease revenues and increase assets.

13. Accumulated Depreciation is:
a. a contra asset account.
b. an expense account.
c. an owner’s equity account.
d. a liability account.
14. In a worksheet, net income is entered in the following columns:
a. income statement (Dr) and balance sheet (Dr).
b. income statement (Cr) and balance sheet (Dr).
c. income statement (Dr) and balance sheet (Cr).
d. income statement (Cr) and balance sheet (Cr).
15. All of the following are required steps in the accounting cycle except:
a. journalizing and posting closing entries.
b. preparing financial statements.
c. journalizing the transactions.
d. preparing a worksheet.
(Answers) 1:B, 2:C, 3:D, 4:D, 5:B, 6:C, 7:B, 8:C, 9:D, 10: A, 11:B, 12:C, 13:A, 14:C, 15:D
Problem 1 (Workout)
Kelly Pitney has operated a part-time consulting business from her home. As of April 1, 2010, Kelly decided to move to rented quarters and to operate the business on a full-time basis. The business will be known as Kelly Consulting. During April, Kelly Consulting entered into the following transactions:
April 1. The following assets were received from Kelly Pitney as initial investment: cash,
$13,100; accounts receivable, $3,000; supplies, $1,400; and office equipment,
$12,500. There were no liabilities received.
1. Paid three months’ rent on a lease rental contract, $4,800.
2. Paid the premiums on property and casualty insurance policies, $1,800.
4. 	Received cash from clients (customers) as an advance payment for services to be provided and recorded it as unearned fees (deferred revenue), $5,000.
5. Purchased additional office equipment on account from Office Station Co., $2,000.
6. Received cash from clients on account, $1,800.

10. Paid cash for a newspaper advertisement, $120.
12. Paid Office Station Co. for part of the debt incurred on April 5, $1,200.
12. Recorded services provided on account for the period April 1–12, $4,200.
14. Paid part-time receptionist for two weeks’ salary, $750.
17. Recorded cash from cash clients for fees earned during the period April 1–16, $6,250.
18. Paid cash for supplies purchased, $800.
20. Recorded services provided on account for the period April 13–20, $2,100.
24. Recorded cash from cash clients (in cash transaction) for fees earned for the period April 17–24, $3,850.
26. Received cash from clients on account, $5,600.
27. Paid part-time receptionist for two weeks’ salary, $750.
29. Paid telephone bill for April, $130.
30. Paid electricity bill for April, $200.
30. Recorded cash from cash clients for fees earned for the period April 25–30, $3,050.
30. Recorded services provided on account for the remainder of April, $1,500.
30. Kelly withdrew $6,000 for personal use.
Required:
[1]. Journalize the above transactions and events
[2]. Post the journal entries (Hint answers cash and revenue balances are 22,100 and 20,950, respectively)
[3]. Prepare trial balance (Hint answers total debit and credit is 56,750)
[4]. Prepare the worksheet using the following data which was assembled on April 30, 2016.
a. Insurance expired during April is $300.
b. Supplies on hand on April 30 are $1,350.
c. Depreciation of office equipment for April is $330.
d. Accrued receptionist salary on April 30 is $120.
e. Rent expired during April is $1,600.
f. Unearned fees on April 30 are $2,500.
(Hint answers total debit and credit of adjustments column is 5,700, net income is 18,300)
[5]. Prepare the Financial Statements (3 of them) [6]. Journalizing and Posting Adjusting Entries [7]. Journalizing and Posting Closing Entries

[8]. Preparing a Post-Closing Trial Balance
Problem 2 (Workout)
Mr. X wants to operate taxi service in Dessie and started the business on March first of 2016. The following transactions were taking place for the month of March:
March 1 - Mr. X invested the following assets for the business to be effective by borrowing
$4,000 cash from his friend and $5,000 cash of his own; account receivable $1,500; supplies $950; and Minibus that cost $80,000.
March 2 - Purchased gasoline, oil and other supplies of $4,500 from Mobil Gas Station, Mr. X agreed to pay $1,500 after two weeks and paid the remaining amount.
March 3 - Taxi service provided for customers and received $6,200 cash.
March 10–Mr. X paid $900 for driver’s salary.
March 15 -Taxi service provided for customers on account totaled $2000.
March 17 -Mr. X paid for Mobil Gas Station the unpaid amount of money that was occurred on March 2 transactions.
March 20 - Paid $ 850 for driver salary
March 21 - Mr. X received $1,500 of his receivable that has been invested on March 1. March 23 –The Minibus maintained in garage and Mr. X paid $420 cash for maintenance. March 31 - Mr. X withdrew $1,500 for his personal use.
Requirements
1. Journalize the transactions that have been took place from the month of March 1 up to 31.
2. Post the journal entries to the ledger.
3. Prepare trial balance
4. Prepare worksheet using the following adjustment information:
a. The inventory of supplies determined that $2000 is on hand.
b. Depreciation on Minibus during the month of March estimated $536.
c. Salary accrued but not paid at March 31, 2016 is $300.
5. Prepare the 3 financial statements
6. Journalize and post the adjusting entries as of March 31, 2016.
7. Journalize and post the closing entries as of March 31, 2016.
8. Prepare post-closing trial balance.

Problem 3 (Workout)
The trial balance of Betty Beauty Saloon does not balance. The errors in the accounting work are given below. Determine the correct balance of each account and prepare the corrected trial balance.
Betty Beauty Saloon Trial balance
April 30
	Cach
	5,902.00
	

	Accounts Receivable
	6,300.00
	

	Supplies
	1,600.00
	

	Equipment
	5,200.00
	

	Accounts payable
	
	4,300.00

	Betty capital
	
	10,000.00

	Service income
	
	4,700.00

	Operating expenses
	1,980.00
	

	Total
	20,982.00
	19,200.00


The errors are the following:
· Cash received form a customer on account was recorded (both debit and credit) as birr 1,400 instead of Birr 1,120
· The purchase on account of an equipment costing Birr 780 was recorded as a debit to operating expense and credit to accounts payable.
· Service was performed to clients Birr 1,780 for which accounts Receivable was debited birr 1,780 and service income was credit birr 178
· A payment of Birr 80 for telephone charges was debited to Operating Expense and it was also debited to cash
· The ledger balance of the service income account is birr 4,700 rather than Birr 4,720.

2.17. [bookmark: _bookmark30]Glossary of Terms
Account –a record showing separately the increases and decreases of a financial statement item during a period.
T account- the simplest format of an account, which resembles the letter ‘T’.
Chart of Accounts- a list of the account s used by an organization and their codes.
Debit- the left side of an account
Credit- the right side of an account.
Source Documents- documents such as an invoice or a cash receipt voucher that evidence the occurrence of a transaction.
Journal- a book or record where a transaction’s full debits and credits and other details are first recorded.
Journal Entry-the debits and credits recorded in the journal for one transaction.
Ledger- a book, where increases and decreases in each account are separately recorded. It is therefore the collection of the individual accounts of an organization.
Trial Balance – a form showing the final balance of each ledger account. It is used to somehow check if any errors were made during the period.
Work Sheet –a working paper that accountants use to collect adjustment data and to easly prepare the financial statements.
Adjustments – entries required to up-date some accounts before preparing financial statements.
Post-Closing Trial Balance- a trial balance prepared after all the accounts have been closed.



	CHAPTER THREE: FINANCIAL STATEMENT ANALYSIS


Aims and Objectives
This chapter aims at presenting the financial statements, importance, objectives, uses, meaning of financial analysis, and techniques of financial statement analysis.
At the end of this chapter, students will be able to:
· Understand the financial statements
· List the users of financial Statements
· Identify the techniques of financial analysis and apply to real business world
Introduction
The essence of managing risk is making good decisions. Correct decision making depends on accurate information and proper analysis. Financial statements are summaries of the operating, investment, and financing activities that provide information for these decisions. But the information is not enough by themselves and need to be analyzed. Financial analysis is a tool of financial management. It consists of the evaluation of the financial condition and operating results of a business firm, an industry, or even the economy, and the forecasting of its future condition and performance. This Chapter discusses common financial information and performance measures frequently used by owners and lenders to evaluate financial health and make risk management decisions. By conducting regular checkups on financial condition and performance, you are more likely to treat causes rather than address only symptoms of problems.
3.1.  Sources of Financial Information
Financial statements help assess the financial well-being of the overall operation. Information about the financial results of each enterprise and physical asset is important for management decisions, but by themselves are inadequate for some decisions because they do not describe the whole business. An understanding of the overall financial situation requires three key financial documents: the balance sheet, the income statement and the cash flow statement.
1. The Balance Sheet
The balance sheet shows the financial position of a firm at a particular point of time. It also shows how the assets of a firm are financed. A completed balance sheet shows information such as the total value of assets, total indebtedness, equity, available cash and value of liquid assets. This information can

then be analyzed to determine the business' current ratio, its borrowing capacity and opportunities to attract equity capital.
2. Income Statement
Usually income statements are prepared on an annual basis. An income statement often provides a better measure of the operation's performance and profitability. It shows the operating results of a firm, flows of revenue and expenses. It focuses on residual earning available to owners after all financial and operating costs are deducted, claims of government are satisfied.
3. Cash Flow Statement
Reports the sources and uses of the operation’s cash resources. Such statements not only show the change in the operation's cash resources throughout the year, but also when the cash was received or spent. An understanding of the timing of cash receipts and expenditures is critical in managing the whole operation.
3.2. Financial Analysis
· Dear students! What does financial statement analysis mean? What are the advantages of financial statement analysis? What methods will be used for analyzing the financial statement?

Financial analysis is the assessment of firm's past, present, and anticipated future financial condition. It is the base for intelligent decision making and starting point for planning the future courses of events for the firm. Its objectives are to determine the firm's financial strength and to identify its weaknesses. The focus of financial analysis is on key figures in the financial statements and the significant relationships that exist between them.
3.1.1. The Need for Financial Analysis
The following stakeholders are interested in financial statement analysis to make their respective decision at right time.
The following are interested in financial statements analysis
1. Investors: Investors fall into two categories, existing and potential. Some seek a takeover, leading to majority control and shareholding. This usually occurs when a company is losing public confidence resulting in low market value. Often considered as hostile takeovers, the investors tend to restructure the business and control it completely, issue shares or sell it off in the open market. The other category consists of short and long-term investors, both interested in increasing their wealth with the minimal effort. This may be through either earning dividends or trading shares in the stock exchange.
2. Lenders: These may supply funds to the organization on short and/or long-term basis. There are several financial institutions and individuals willing to lend to progressive companies but few to support those with lower earning levels. The loan carries a charge of interest payable annually or as agreed, on the principle or compounded principle, over the period that the loan has been issued.
3. Management: The managers are entrusted with the financial resources contributed by owners and other suppliers of funds for effective utilization. In their pursuit to make the company achieve its objectives, the managers should use relevant financial information to make right decision at the right time.
4. Suppliers: Suppliers of products and services to the company would like their investments - sales made on credit terms - received with surety. A creditor would be reluctant to trade any further if s/he is not guaranteed a timely payment against the issued invoice.
5. Employees: Many would consider employees the least affected of all when it comes to analyzing the company's accounts. Think again. The employees will be first to feel the change in circumstances as they may be promoted, demoted or fired. They would be very much interested in finding out if the company exhibits any points in their favor, mainly job security and facilities.
6. Government bodies: As a rule, Companies House requires each company, private or public, to submit their financial statements and accounts annually. The list of registered companies and their most recent accounts are published in the Companies House official publication, which informs the public of their performance for the year or period ended. In addition, the government has the responsibility to ensure that the information is not delusive and the rights of the public are protected. Furthermore, it bears the responsibility of prosecuting any offender of the law, including corporate and consumer law.
7. Competitors: It may seem odd, but existing competitors and new entrants have to consider the likelihood of their success or failure in trying to conquer the market. Their primary interest lies in the business ratios of efficiency/productivity and cash, debtor and credit management. For the industry, it acts as a comparative for better performance of firms and companies of varying sizes.
They also help in establishing a trend of the industry that is normally a guide to new entrants to study, analyze and perform.
3.1.2. Methods/ Domains of Financial Analysis 2.2.2.1.Ratio Analysis
Probably, the most widely used financial analysis technique is ratio analysis, the analysis of relationships between two or more line items on the financial statements.
A ratio: Is the mathematical relationship between two quantities in the financial Statement. Ratio analysis: is essentially concerned with the calculation of relationships which, after proper identification and interpretation, may provide information about the operations and state of affairs of a business enterprise. The analysis is used to provide indicators of past performance in terms of critical success factors of a business. This assistance in decision-making reduces reliance on guesswork and intuition, and establishes a basis for sound judgment.
2.2.2.2. Horizontal (Trend) Analysis
Horizontal Analysis expresses financial data from two or more accounting periods in terms of a single designated base period; it compares data in each succeeding period with the amount for the preceding period. For example, current to past or to expected in the future for the same company
2.2.2.3. Vertical (Static) Analysis
In vertical analysis, all the data in a particular financial statement are presented as a percentage of a single designated line item in that statement. For example, we might report income statement items as percentage of net sales, balance sheet items as a percentage of total assets; and items in the statement of cash flows as a fraction or percentage of the change in cash.
3.1.3. Benchmarks for Evaluation
What is more important in ratio analysis is the through understanding and the interpretation of the ratio values. To answers the questions as; it is too high or too low? Is good or bad? A meaningful standard or basis for comparison is needed.
We will calculate a number of ratios. But what shall we do with them? How do you interpret them? How do you decide whether the Company is healthy or risky? There are three approaches: Compare the ratios to the rule of thumb, use Cross-sectional analysis or time series analysis. Comparing a company's ratios to the rule of thumb has the virtue of simplicity but has little to recommend it conceptually. The appropriate value of ratios for a company depends too much on the analyst's perspectives and on the Company's specific circumstances for rules of thumb to be very useful. The most positive thing to be said in their support is that, over the years, Companies confirming to these rules of thumb tend to go bankrupt somewhat less frequently than those that do not.
Cross-Sectional Analysis- involves the comparison of different firm's financial ratios at the same point in time. The typical business is interested in how well it has performed in relation to its competitors. Often, the firm's performance will be compared to that of the industry leader, and the firm may uncover major operating deficiencies, if any, which, if changed, will increase efficiency. Another popular type of comparison is to industry averages; the comparison of a particular ratio to the standard is made to isolate any deviations from the norm. Too high or too low values reflect symptoms of a problem. Comparing a Company's ratios to industry ratios provide a useful feel for how the Company measures up to its Competitors. But, it is still true that company specific differences can result in entirely justifiable deviations from industry norms. There is also no guarantee that the industry as a whole knows what it is doing.
Time-Series Analysis – is applied when a financial analyst evaluates performance of a firm over time. The firm's present or recent ratios are compared with its own past ratios.
Comparing of current to past performance allows the firm to determine whether it is progressing as planned.
	Activity 3.1 
1. Who are the users of financial statements and for what purpose do they use it?
2. Discuss the basis with which you compare your company's ratios




3.1.4. Types of Financial Ratios
· Dear students! Do you know the classifications of financial ratios? Give your answers in writing before beading the following section.


There are five basic categories of financial ratios. Each represents important aspects of the firm's financial conditions. The categories consist of liquidity, activity, leverage, profitability and market value ratios. Each category is explained by using an example set of financial ratios for Rodas Company.
Illustrative example 1:
Dear Students! Let us use the financial statements of Rodas Company, shown below to investigate and explain ratio analysis.






	Rodas Company, Income Statements

	Variables
	2001
	2000

	Sales
	3,074,000
	2,567,000

	Less Cost of Goods Sold
	2,088,000
	1,711,000

	Gross Profit
	986,000
	856,000

	Less Operating Expenses
	
	

	Selling Expenses
	100,000
	108,000

	General and Adm. Expenses
	468,000
	445,000

	Total Operating Expenses
	568,000
	553,000

	Operating Profit
	418,000
	303,000

	Less Interest Expenses
	93,000
	91,000

	Net Profit Before Tax
	325,000
	212,000

	Less Profit Tax (at 29%)
	94,250
	61,480

	Net Income After Tax
	230,750
	150,520

	Less Preferred Stock Dividends
	10,000
	10,000

	Earning Available to Common Shareholders
	220,750
	140,520

	EPS
	2.90
	1.81

	Rodas Company , Balancesheet

	
	2001
	2000

	Assets
	
	

	Current Assets
	
	

	Cash
	363,000
	288,000

	Marketable Securities
	68,000
	51,000

	Accounts Receivables
	503,000
	365,000

	Inventories
	289,000
	300,000

	Total Current Assets
	1,223,000
	1,004,000

	Gross Fixed Assets (at cost)
	
	

	Land and Buildings
	2,072,000
	1,903,000

	Machinery and Equipment
	1,866,000
	1,693,000

	Furniture and Fixture
	358,000
	316,000

	Vehicles
	275,000
	314,000

	Others
	98,000
	96,000

	Total Fixed Assets
	4,669,000
	4,322,000

	Less Acc. Depreciation
	2,295,000
	2,056,000

	Net Fixed Assets
	2,374,000
	2,266,000

	Total Assets
	3,597,000
	3,270,000

	Liabilities and Owners' Equity
	
	

	Current Liabilities
	
	

	Accounts Payable
	382,000
	270,000

	Notes Payable
	79,000
	99,000

	Accruals
	159,000
	114,000

	Total Current Liabilities
	620,000
	483,000

	Long-Term Debts
	1,023,000
	967,000

	Total Liabilities
	1,643,000
	1,450,000

	Shareholder's Equity
	
	

	Preferred Stock –Cumulative, 2000 Share issued and Outstanding
	200,000
	200,000

	Common Stock, Shares issued and Outstanding in 2001, 76,262; in 2000, 76,244
	191,000
	190,000

	Paid- in Capital in Excess of Par on Common Stock
	428,000
	418,000

	Retained Earnings
	1,135,000
	1,012,000

	Total Stockholders' Equity
	1,954,000
	1,820,000

	Total Liabilities and Stockholders' Equity
	3,597,000
	3,270,000


3.2.4.1. Liquidity Ratios
Liquidity refers to, the ability of a firm to meet its short-term financial obligations when and as they fall due. Liquidity ratios provide the basis for answering the questions: Does the firm have sufficient cash and near cash assets to pay its bills on time?
Current liabilities represent the firm's maturing financial obligations. The firm's ability to repay these obligations when due depends largely on whether it has sufficient cash together with other assets that can be converted into cash before the current liabilities mature. The firm's current assets are the primary source of funds needed to repay current and maturing financial obligations. Thus, the current ratio is the logical measure of liquidity. Lack of liquidity implies inability to meet its current obligations leading to lack of credibility among suppliers and creditors.· Dear students! What are the basic measures of liquidity of the companies?

a. Current Ratio: - Measures a firm’s ability to satisfy or cover the claims of short term creditors by using only current assets. That is, it measures a firm’s short-term solvency or liquidity. The current ratio is calculated by dividing current assets to current liabilities.
Therefore, the current ratio for Rodas Company for 2001 is =	        1,223,000	= 1.97Current Ratio =
Current Assets
Current Liabilities

 620,000
The unit of measurement is either birr or times. So, we could say that Lakomenza has Birr 1.97 in current assets for every 1 birr in current liabilities, or, we could say that Lakomenza has its current liabilities covered 1.97 times over. Current assets get converted in to cash through the operating cycle and provide the funds needed to pay current liabilities. An ideal current ratio is 2:1or more. This is because even if the value of the firm's current assets is reduced by half, it can still meet its obligations.
However, between two firms with the same current ratio, the one with the higher proportion of current assets in the form of cash and account receivables is more liquid than the one with those in the form of inventories.
A very high current ratio than the Standard may indicate: excessive cash due to poor cash management, excessive accounts receivable due to poor credit management, excessive inventories due to poor inventory management, or a firm is not making full use of its current borrowing capacity. A very Low current ratio than the Standard may indicate: difficulty in paying its short term obligations, under stocking that may cause customer dissatisfaction.
b. Quick (Acid-test) Ratio: This ratio measures the short term liquidity by removing the least liquid assets such as: Inventories: are excluded because they are not easily and readily convertible into cash and moreover, losses are most likely to occur in the event of selling inventories. Because inventories are generally the least liquid of the firm's assets, it may be desirable to remove them from the numerator of the current ratio, thus obtaining a more refined liquidity measure.
Prepaid Expenses such as; prepaid rent, prepaid insurance, and prepaid advertising, prepaid supplies are excluded because they are not available to pay off current debts. Acid-Test Ratio is computed as follows.
Quick/Acid test Ratio =
Current assets Inventories
Current Liabilities

For 2001, Quick Ration for Rodas Company will be: 1,223,000- 289,000 = 1.51
620,000
   Interpretation: Rodas has 1birr and 51 cents in quick assets for every birr current liabilities. As a very high or very low acid test ratio is assign of some problem, a moderately high ratio is required by the firm.
	Activity 3.2
1. What is Liquidity and what does Liquidity ratio measures?
2. Compute the current and acid-test ratio of Rodas Company for the year 2000


3.2.2.4.2. Activity Ratios
· Dear students! In the previous discussions, you have seen the Liquidity ratios. Now, You are going to see the Activity ratios. So, What do you think the activity ratio measures? What ratios are included under this category?

Activity ratios are also known as assets management or turnover ratios. Turnover ratios measure the degree to which assets are efficiently employed in the firm. These ratios indicate how well the firm manages its assets. They provide the basis for assessing how the firm is efficiently or intensively using its assets to generate sales. These ratios are called turnover ratios because they show the speed with which assets are being converted into sales.
Measure of liquidity alone is generally inadequate because differences in the composition of a firm's current assets affect the "true" liquidity of a firm i.e. Overall liquidity ratios generally do not give an adequate picture of company’s real liquidity due to differences in the kinds of current assets and liabilities the company holds. Thus, it is necessary to evaluate the activity ratio.
Let us see the case of ABC and XYZ café having different compositions of current assets but equal in total amount.
	
	ABC Café 
	XYZ Café

	Cash 
	0
	Br. 7,000

	Marketable Security
	0
	17,000

	A/R
	0
	5,000

	Inventories
	35,000
	6,000

	Total Current Asset
	35,000
	35,000

	Current Liabilities
	0
	6,000

	A/P
	14,000
	2,000

	N/P
	                   0
	4,000

	Accruals
	0
	2,000

	Total Current Liability
	14,000
	14,000


The two cafeterias have the same liquidity (current ratio) but their composition is different.
CR =        CA		CR= CA
CL	CL
= 35,000  = 2.5 times	=35,000 = 2.5 times
14,000	14, 000
Where: CR is current ratio, CA is current assets, CL is current liability, A/R is accounts receivables, N/R is notes receivable and A/P is accounts payable. When you see the two cafes, their current ratios are the same, but XYZ café is more liquid than ABC café. This differences cause the activity ratio showing the composition of each assets than the current ratio making activity ratio more important in showing a 'true" liquidity position than current ratio. Although generalization can be misleading in ratio analysis, generally, high turnover ratios usually associated with good assets management and lower turnover ratios with poor assets management. The major activity ratios are the following.
A. Inventory Turnover Ratio
The inventory turnover ratio measures the effectiveness or efficiency with which a firm is managing its investments in inventories is reflected in the number of times that its inventories are turned over (replaced) during the year. It is a rough measure of how many times per year the inventory level is replaced or turned over.
Inventory Turnover =    Cost of Goods Sold
Average Inventories

For the year of Rodas Company for 2001= 2,088,000/294,500*= 7.09 times Interpretation: - Rodas's inventory is sold out or turned over 7.09 times per year. In general, a high inventory turnover ratio is better than a low ratio.
An inventory turnover significantly higher than the industry average indicates: Superior selling practice, improved profitability as less money is tied-up in inventory.
B. Average Age of Inventory
The number of days inventory is kept before it is sold to customers. It is calculated by dividing the number of days in the year to the inventory turnover.Average Age of Inventory =
No days in year / 365days
Inventory Turnover

Therefore, the Average Age of Inventory for Rodas Company for the year 2001 is:
365 days	= 51 days
                           7.09
This tells us that, roughly speaking, inventory remain in stock for 51 days on average before it is sold. The longer period indicates that, Rodas is keeping much inventory in its custody and, the company is expected to reassess its marketing mechanisms that can boost its sales because, the lengthening of the holding periods shows a greater risk of obsolescence and high holding costs.
C. Accounts Receivable Turnover Ratio: - Measures the liquidity of firm’s accounts receivable. That is, it indicates how many times or how rapidly accounts receivable is converted into cash during a year. The accounts receivable turnover is a comparison of the size of the company’s sales and its uncollected bills from customers. This ratio tells how successful the firm is in its collection. If the company is having difficulty in collecting its money, it has large receivable balance and low ratio.Receivable Turnover	=
Net Sales
Average Account Receivables

The accounts receivable turnover for Rodas Company for the year 2001 is computed as under. Accounts receivable turnover ratio = 3,074,000 = 7.08
434,000*
Average Accounts Receivable is the accounts receivable of the year 2000 plus that of the year 2001 and dividing the result by two.
So, 434 =	503,000 + 365,000/ 2 = 434,000*
Interpretation: Rodas Company collected its outstanding credit accounts and re-loaned the money 7.08 times during the year.
Reasonably high accounts receivable turnover is preferable. A ratio lower than the industry average may suggest that a company has more liberal credit policy (i.e. longer time credit period), poor credit selection, and         inadequate collection effort or policy.  A ratio substantially higher than the industry average may suggest that a firm has more restrictive credit policy (i.e. short term credit period), more liberal cash discount offers (i.e. larger discount and sale increase), more restrictive credit selection.
D. Average Collection Period: Shows how long it takes for account receivables to be cleared (collected). The average collection period represents the number of days for which credit sales are locked in with debtors (accounts receivables). Assuming 365 days in a year, average collection period is calculated as follows.365days
Average Collection period = Receivable Turnover

The average Collection period for Rodas Company for the year 2001 will be: 365 days/7.08 =51 days or Average collection period = Average accounts receivables* 365 days/Sales
434,000* 365 days/3,074,000* = 51 days
The higher average collection period is an indication of reluctant collection policy where much of the firm’s cash is tied up in the form of accounts receivables, whereas, the lower the average collection period than the standard is also an indication of very aggressive collection policy which could result in the reduction of sales revenue.
E. Average Payment Period
The average Payment Period/ Average Age of accounts Payable shows, the time it takes to pay to its suppliers.The Average Payment Period =	Accounts Payable
Average purchase per day

Purchase is estimated as a given percentage of cost of goods sold. Assume purchases were 70% of the cost of goods sold in 2001.
So, Average Payment Period =	382,000	= 95 days
2,088,000 x .70/365
This shows that, on average, the firm pays its suppliers in 95 days. The longer these days, the more the credit financing the firm obtains from its suppliers.
F. Fixed Asset Turnover
Measures the efficiency with which the firm has been using its fixed assets to generate revenue. The Fixed Assets Turnover for Rodas Company for the year 2001 is calculated as follows.Fixed assert turnover =
Net sales
Average Net Fixed Asset

Fixed Assets Turnover = 3,074,000	= 1.29
2,374,000*
This means that, Rodas Company has generated birr 1.29 in net sales for every birr invested in fixed assets. Other things being equal, a ratio substantially below the industry average shows; underutilization of available fixed assets (i.e. presence of idle capacity) relative to the industry, possibility to expand activity level without requiring additional capital investment, over investment in fixed assets, low sales or both. This helps the financial manager to reject funds requested by production managers for new capital investments. Other things being equal, a ratio higher than the industry average requires the firm to make additional capital investment to operate a higher level of activity. It also shows firm's efficiency in managing and utilizing fixed assets.
G. Total Asset Turnover- Measures a firm’s efficiency in management its total assets to generate sales.Total Assets Turnover =	Net sales
Net total assets

The Total Assets Turnover for Rodas Company for the year 2001 is as follows.
3,074,000 = 0.85
3,597,000
Interpretation: - Rodas Company generates birr 0.85 (85 cents) in net sales for every birr invested in total assets. A high ratio suggests greater efficiency in using assets to produce sales whereas; a low ratio suggests that Rodas is not generating a sufficient volume of sales for the size of its investment in assets.
Caution- with respect to the use of this ratio, caution is needed as the calculations use historical cost of fixed assets. Because, of inflation and historically based book values of assets, firms with newer assets will tend to have lower turnovers than those firms with older assets having lower book values. The difference in these turnovers results from more costly assets than from differing operating efficiencies. Therefore, the financial manager should be cautious when using these ratios for cross-sectional comparisons.
	Activity 3.3
1. What are the major types of activity ratios?

2. Calculate and interpret all the activity ratios for Rodas Company for the year 2000.





3.2.4.2. Leverage Ratios
· 	Dear learners! Until now, you were learning about liquidity and activity ratios. Now you are going to see the leverage ratios. So, what is leverage ratio? What are the major types of ratios included under this ratio? How each ratio is computed?

Leverage ratios are also called solvency ratio. Solvency is a firm’s ability to pay long term debt as they come due. Leverage shows the degree of ineptness of firm.
There are two types of debt measurement tools. These are:
A. Financial Leverage Ratio: These ratios examine balance sheet ratios and determine the extent to which borrowed funds have been used to finance the firm. It is the relationship of borrowed funds and owner capital.
B. Coverage Ratio: These ratios measure the risk of debt and calculated by income statement ratios designed to determine the number of times fixed charges are covered by operating profits. Hence, they are computed from information available in the income statement. It measures the relationship between what is normally available from operations of the firm’s and the claims of outsiders. The claims include loan principal and interest, lease payment and preferred stock dividends.
A. 1, Debt Ratio: Shows the percentage of assets financed through debt. It is calculated as:
Debt ratio =
Total Liability Total Assets

The debt ratio for Lakomenza Company for the year 2001 is as follows:
= 1,643 = 0.457 or 45.7 %
3,597
This indicates that the firm has financed 45.7 % of its assets with debt. Higher ratio shows more of a firm’s assets are provided by creditors relative to owners indicating that, the firm may face some difficulty in raising additional debt as creditors may require a higher rate of return (interest rate) for taking high-risk. Creditors prefer moderate or low debt ratio, because low debt ratio provides creditors more protection in case a firm experiences financial problems.
A.2. Debt -Equity Ratio: express the relationship between the amount of a firm’s total assets financed by creditors (debt) and owners (equity). Thus, this ratio reflects the relative claims of creditors and shareholders against the asset of the firm.Debt -equity ratio =	Total Liability
Stockholders' Equity

The Debt- Equity Ratio for Rodas Company for the year 2001 is indicated as follows. Debt- Equity ratio = 1,643,000 = 0.84 or 84 %
1,954,000
Interpretation: lenders’ contribution is 0.84 times of stock holders’ contributions.
A. 1. Times Interest Earned Ratio: Measures the ability of a firm to pay interest on a timely basis.
Times Interest Earned Ratio =Earning Before Interest and Tax
Interest Expense

The times interest earned ratio for Lakomenza Company for the year 2001 is:
418,000 = 4.5 times
93,000
This ratio shows the fact that earnings of Lakomenza Company can decline 4.5 times without causing financial losses to the Company, and creating an inability to meet the interest cost.
B.2.Coverage Ratio: The problem with the times interest eared ratio is that, it is based on earning before interest and tax, which is not really a measure of cash available to pay interest. One major reason is that, depreciation, a non cash expense has been deducted from earning before Interest and Tax (EBIT). Since interest is a cash outflow, one way to define the cash coverage ratio is as follows:
Cash Coverage Ratio= EBIT + Depreciation
                       Interest expense 

(Depreciation for 2000 and 2001 is 223,000 and 239,000 respectively). So, Cash coverage ratio for Lakomenza Company for the year 2001 is
418,000 + 239,000 = 7.07 times
93, 000
This ratio indicates the extent to which earnings may fall with out causing any problem to the firm regarding the payment of the interest charges.
	Activity 3.4
1. What does leverage ratio mean and what it measures?
2. Why cash coverage ratio is more important than times interest earned ratio?
3. Compute the leverage ratio of Rodas  Company for the year 2000





3.2.4.3. Profitability Ratios
· 	Dear Students! What does profitability mean? What are the basic types of Profitability ratios?

Profitability ratio measures the ability of a business to earn profit over a period of time. Profitability ratios are used to measure management effectiveness. Besides management of the company, creditors and owners are also interested in the profitability of the company. Creditors want to get interest and repayment of principal regularly. Owners want to get a required rate of return on their investment. These ratios include:
A. Gross Profit Margin
B. Operating Profit Margin
C. Net Profit Margin
D. Return on Investment (ROI)
E. Return on Equity (ROE)
F. Earnings Per Share (EPS)
A. Gross Profit Margin: This ratio computes the margin earned by the firm after incurring manufacturing or purchasing costs. It indicates management effectiveness in pricing policy, generating sales and controlling production costs. It is calculated as:Gross Profit Margin = Gross Profit
Net Sales

The gross profit margin for Lakomenza Company for the year 2001 is: Gross Profit Margin = 986,000/3,074,000 = 32.08 %
Interpretation: Lakomenza company profit is 32 cents for each birr of sales. A high gross profit margin ratio is a sign of good management. A gross profit margin ratio may increase by: Higher sales price, CGS remaining constant, lower CGS, sales prices remains constant. Whereas, a low gross profit margin may reflect higher CGS due to the firm’s inability to purchase raw materials at favorable terms, inefficient utilization of plant and machinery, or over investment in plant and machinery, resulting higher cost of production.

B. Operating Profit Margin: This ratio is calculated by dividing the net operating profits by net sales. The net operating profit is obtained by deducting depreciation from the gross operating profit. The operating profit is calculated as:Operating Profit Margin =
Operating Profit Net Sales

The operating profit margin of Rodas Company for the year 2001 is:
= 418,000  = 13.60
   3,074,000
Interpretation: Rodas Company generates around 14 cents operating profit for each of birr sales.
C. Net Profit Margin: This ratio is one of the very important ratios and measures the profitableness of sales. It is calculated by dividing the net profit to sales. The net profit is obtained by subtracting operating expenses and income taxes from the gross profit. Generally, non-operating incomes and expenses are excluded for calculating this ratio. This ratio measures the ability of the firm to turn each birr of sales in to net profit. A high net profit margin is a welcome feature to a firm and it enables the firm to accelerate its profits at a faster rate than a firm with a low profit margin. It is calculated as:Net Profit Margin = Net Income
Net Sales

  The net profit margin for Rodas Company for the year 2001 is:
  230,750  = 7.5 %
3,074,000
This means that Rodas Company has acquired 7.5 cents profit from each birr of sales.
D. Return on Investment (ROI): The return on investment also referred to as Return on Assets measures the overall effectiveness of management in generating profit with its available assets, i.e. how profitably the firm has used its assets. Income is earned by using the assets of a business productively. The more efficient the production, the more profitable is the business. The return on assets is calculated as:
Return on Assets (ROA) = Net Income
                                Total Assets

The return on assets for Rodas Company for the year 2001 is:
230,750	= 6.4 %
3,597,000
Interpretation: Rodas Company generates little more than 6 cents for every birr invested in assets.

E. Return on Equity: The shareholders of a company may Comprise Equity share and preferred shareholders. Preferred shareholders are the shareholders who have a priority in receiving dividends (and in return of capital at the time of widening up of the Company). The rate of dividend divided on the preferred shares is fixed. But the ordinary or common share holders are the residual claimants of the profits and ultimate beneficiaries of the Company. The rate of dividends on these shares is not fixed. When the company earns profit it may distribute all or part of the profits as dividends to the equity shareholders or retain them in the business it self. But the profit after taxes and after preference shares dividend payments presents the return as equity of the shareholders. The Return on equity is calculated as:
The Return on equity of Rodas Company for the year 2001 is:ROE =
Net Income Stockholders Equity

		 230,750	= 11.8%
		1,954,000
 Interpretation: Rodas generates around12 cents for every birr in shareholder’s equity.
F. Earnings per Share (EPS): EPS is another measure of profitability of a firm from the point of view of the ordinary shareholders. It reveals the profit available to each ordinary share. It is calculated by dividing the profits available to ordinary shareholders (i.e. profit after tax minus preference dividend) by the number of outstanding equity shares. The earning per share is calculated as follows:
EPS = Earning Available for Common Stockholders Number of Shares of Common Stock Outstanding

             Therefore, the earning per share of Lakomenza Company for the year 2001 is:
EPS =   220,750	= birr 2.90 per share 76,262 shares
Interpretation: Rodas Company earns birr 2.90 for each common shares outstanding.
	Activity 3.5
1.  Describe the major types of profitability ratios
2. Calculate the profitability ratios of Rodas for the year 2000


Market Value Ratio:· Dear Students! What are the major types of market value ratios?

Market value or valuation ratios are the most significant measures of a firm's performance, since they measure the performance of the firm's common stocks in the capital market. This is known as the market value of equity and reflects the risk and return associated with the firm's stocks. These measures are based, in part, on information that is not necessarily contained in financial statements – the market price per share of the stock. Obviously, these measures can only be calculated directly for publicly traded companies. The following are the important valuation ratios:
A. Price- Earnings (P/E) Ratio: The price earnings ratio is an indicator of the firm's growth prospects, risk characteristics, shareholders orientation corporate reputation, and the firm's level of liquidity.
The P/E ratio can be calculated as:P/E Ratio =
Market Price per Share Earning per Share

The price per share could be the price of the share on a particular day or the average price for a certain period.
Assume that Lakomenza Company's common stock at the end of 2001 was selling at birr 32.25, using its EPS of birr 2.90, the P/E ratio at the end of 2001 is:
= 32.25/ 2.90 = 11.10
This figure indicates that, investors were paying birr 11.10 for each 1.00 of earnings. Though not a true measure of profitability, the P/E ratio is commonly used to assess the owners' appraisal of shares value. The P/E ratio represents the amount investors are willing to pay for each birr of the firm's earnings. The level of P/E ratio indicates the degree of confidence (or Certainty) that investors have in the firm's future performance. The higher the P/E ratio, the greater the investor confidence on the firm's future performance will. It is a means of standardizing stock prices to facilitate comparison among companies with different earnings.
B. Market Value to Book Value (Market-to-Book) Ratios
The market value to book value ratio is a measure of the firm's contributing to wealth creation in the society. It is calculated as:Market-Book Ratio =Market Value pre Share
          Book Value per Share

The book value per share can be calculated as:Book value per share = Total Stockholders Equity
No. of Common Shares Outstanding

Book Value per Share for 2001 =	1,954,000 = 25.62
76,262
Therefore, the Market-Book Ratio for Lakomenza Company for the year 2001 is: 32.25/25.62  = 1.26

The market –to-book value ratio is a relative measure of how the growth option for a company is being valued via-a vis- its physical assets. The greater the expected growth and value placed on such, the greater this ratio.
	Activity 3.6
1. What are the major market value ratios?
2. Calculate the market value ratios for Lakomenza Company for the year 2000


3.2.3. Limitations of Ratio Analysis
While ratio analysis can provide useful information concerning a company’s operations and financial condition, it does have limitations that necessitate care and judgments. Some potential problems are listed below:
1. Many large firms operate different divisions in different industries, and for such companies it is difficult to develop a meaningful set of industry averages. Therefore, ratio analysis is more useful for small, narrowly focused firms than for large, multi-divisional ones.
2. Most firms want to be better than average, so merely attaining average performance is not necessarily good as a target for high-level performance, it is best to focus on the industry leader’ ratios. Benchmarking helps in this regard.
3. Inflation may have badly distorted firm’s balance sheets - recorded values are often substantially different from “true” values. Further, because inflation affects both depreciation charges and inventory costs, profits are also affected. Thus, a ratio analysis for one firm over time, or a comparative analysis of firms of different ages, must be interpreted with judgment.
4. Seasonal factors can also distort a ratio analysis. For example, the inventory turnover ratio for a food processor will be radically different if the balance sheet figure used for inventory is the one just before versus just after the close of the coming season.
5. Firms can employ “window dressing” techniques to make their financial statements look stronger.
6. Different accounting practices can distort comparisons. As noted earlier, inventory valuation and depreciation methods can affect financial statements and thus distort comparisons among firms. Also, if one firm leases a substantial amount of its productive equipment, then its assets may appear on the balance sheet. At the same time, the ability associated with the lease obligation may not be shown as a debt. Therefore, leasing can artificially improve both the turnover and the debt ratios.
7. It is difficult to generalize about whether a particular ratio is “good” or “bad”. For example, a high current ratio may indicate a strong liquidity position, which is good or excessive cash, which is bad (because excess cash in the bank is a non-earning asset).
Similarly, a high fixed asset turnover ratio may denote either that a firm uses its assets efficiently or that it is undercapitalized and cannot afford to buy enough assets.
8. A firm may have some ratios that look “good” and other that look “bad”, making it difficult to tell whether the company is, on balance, strong or weak. However, statistical procedures can be used to analyze the net effects of a set of ratios. Many banks and other lending organizations use discriminate analysis, a statistical technique, to analyze firm’s financial ratios, and then classify the firms according to their probability of getting into financial trouble.
9. Effective use of financial ratios requires that the financial statements upon which they are based are accurate. Due to fraud, financial statements are not always accurate; hence information based on reported data can be misleading. Ratio analysis is useful, but analysts should be aware of these problems and make adjustments as necessary.
	Activity 3.7
1. Discuss the major limitations of ratio analysis?
2. Which of these limitations might observe in the organization in which you work or around you?


3.2.4. Common size and Index Analysis
· Dear students! What we mean when we say vertical and horizontal analysis?

It is often useful to express balance sheet and income statement items as percentages. The percentages can be related to totals, such as total assets or total sales, or to some base year. Called Common size analysis and Index analysis, respectively, the evaluation of trends in financial statements percentages over time affords the analyst insight in to the underlying improvement or deterioration in financial condition and performance. While a good portion of this insight is revealed on the analysis of financial ratios, a broader understanding of the trends is possible when the analysis is extended to include the foregoing considerations.
To illustrate these two types of analysis, let us use the balance sheet and income statements of Arada Electronics Corporation for the year 1999 through 2001 E.C.
Exercise 2.3 the following table illustrates the balance sheet and income statement for Arada Electronics Corporation. You are required to analyze it using vertical and horizontal analysis methods of the financial statement.

Arada Electronic Corporation Balance Sheet

	Items
	1999
	2000
	2001

	Assets
	
	
	

	Cash
	2,507,000
	4,749,000
	11,310,000

	Accounts Receivables
	70,360,000
	72,934,000
	85,147,000

	Inventory
	77,380,000
	86,100,000
	91,378,000

	Other Current Assets
	6,316,000
	5,637,000
	6,082,000

	Total Current Assets
	156,563,000
	169,420,000
	193,917,000

	Fixed Assets (Net)
	79,187,000
	91,868,000
	94,652,000

	Other Long-Term Assets
	4,695,000
	5,017,000
	5,899,000

	Total Assets
	240,445,000
	266,305,000
	294,468,000

	Liabilities and Shareholders' Equity
	
	
	

	Accounts Payable
	35,661,000
	31,857,000
	37,460,000

	Notes Payable
	20,501,000
	25,623,000
	14,680,000

	Other Current Liabilities
	11,054,000
	7,330,000
	8,132,000

	Total Current Liabilities
	67,216,000
	64,810,000
	60,272,000

	Long -Term Debt
	888,000
	979,000
	1,276,000

	Total Liabilities
	68,104,000
	65,789,000
	61,548,000

	Preferred Stock
	0
	0
	0

	Common Stock
	12,650,000
	25,649,000
	26,038,000

	Additional Paid in Capital
	36,134,000
	33,297,000
	45,883,000

	Retained Earnings
	123,557,000
	141,570,000
	160,999,000

	Shareholders' Equity
	172,341,000
	200,516,000
	132,920,000

	Total Liabilities and Equity
	240,445,000
	266,305,000
	294,468,000


Arada Electronic Corporation Income Statement
	Items
	Year

	
	1999
	2000
	2001

	Sales
	323,780,000
	347,322,000
	375,088,000

	Cost of Goods Sold
	148,127,000
	161,478,000
	184,507,000

	Gross Profit
	175,653,000
	185,844,000
	190,581,000

	Selling Expenses
	79,399,000
	98,628,000
	103,975,000

	General and Adm. Expenses
	43,573,000
	45,667,000
	45,275,000

	Total Expenses
	122,972,000
	144,295,000
	149,250,000

	Earning Before Interest and Tax
	52,681,000
	41,549,000
	41,331,000

	Other Income
	1,757,000
	4,204,000
	2,963,000

	Earning Before Tax
	54,438,000
	45,753,000
	44,294,000

	Taxes
	28,853,000
	22,650,000
	20,413,000

	Earning After Tax
	25,585,000
	23,103,000
	23,881,000



Solutions to exercise 2.3 
Arada Corporation Common size Balance Sheet

	
Items
	Year

	
	1999
	2000
	2001

	Assets
	
	
	

	Cash
	1.00
	1.80
	3.80

	Accounts Receivables
	29.30
	27.40
	28.90

	Inventory
	32.20
	32.30
	31.00

	Other Current Assets
	2.60
	2.10
	2.10

	Total Current Assets
	65.10
	63.60
	65.90

	Fixed Assets (Net)
	32.90
	34.50
	32.10

	Other Long-Term Assets
	2.00
	1.90
	2.00

	Total Assets
	100.00
	100.00
	100.00

	Liabilities and Shareholders' Equity
	
	
	

	Accounts Payable
	14.80
	12.00
	12.70

	Notes Payable
	8.50
	9.60
	5.00

	Other Current Liabilities
	4.60
	2.80
	2.80

	Total Current Liabilities
	28.00
	24.30
	20.50

	Long-Term Debt
	0.40
	.40
	.40

	Total Liabilities
	28.30
	24.70
	20.90

	Preferred Stock
	0
	0
	0

	Common Stock
	5.30
	9.60
	8.80

	Additional Paid in Capital
	15.00
	12.50
	15.60

	Retained Earnings
	51.40
	53.20
	54.70

	Shareholders' Equity
	71.70
	75.30
	79.10

	Total Liabilities and Equity
	100.00
	100.00
	100.00


Arada Electronic Corporation Common size Income Statement

	Items
	Year

	
	1999
	2000
	2001

	Sales
	100.00
	100.00
	100.00

	Cost of goods sold
	45.70
	46.50
	49.20

	Gross Profit
	54.30
	53.50
	50.80

	Selling Expenses
	24.50
	28.40
	27.70

	General and Adm. Expenses
	13.50
	13.10
	12.10

	Total Expenses
	38.00
	41.50
	39.80

	Earning Before Interest and Tax
	16.30
	12.00
	11.00

	Other Income
	.50
	1.20
	.80

	Earning Before Tax
	16.80
	13.20
	11.80

	Taxes
	8.90
	6.50
	5.40

	Earning After Tax
	7.90
	6.70
	6.40




2.2.6.1. Statement Items as Percentage of Totals
In Common size analysis, we express the various components of a balance sheet as percentages of the total assets of the company. In addition, this can be done for the income statements, but here items are related to sales. The expression of individual financial items as percentage of totals usually permits insights not possible from a review of raw figures by themselves.
In the table for Arada Company we can see that, over the three years the percentage of current assets increased and that this was particularly true for cash. In addition we see that account receivables showed a decrease from the year 1999 to 2000 and showed a relative increase from the year 2000 to 2001. On the liability and shareholders' equity side, of the balance sheets, the debt of the company declined on a relative basis from 1999 to 2001. The accounts payable increased substantially 1999 to the year 2001. The Common size income statement on table 4 shows the gross profit margin is constantly decreasing from the year 1999 to 2001. When this is combined with the fluctuating selling expenses and constantly decreasing general and administrative expenses, the end result gives the constantly decreasing net profit margin.
Arada Electronic Indexed Balance Sheet
	
Items
	Year

	
	1999
	2000
	2001

	Assets
	
	
	

	Cash
	100.00
	189.40
	451.10

	Accounts Receivables
	100.00
	103.70
	121.00

	Inventory
	100.00
	111.30
	118.10

	Other Current Assets
	100.00
	89.20
	96.30

	Total Current Assets
	100.00
	108.20
	123.90

	Fixed Assets (Net)
	100.00
	116.00
	119.50

	Other Long-Term Assets
	100.00
	106.90
	125.60

	Total Assets
	100.00
	110.80
	122.50

	Liabilities and Shareholders' Equity
	
	
	

	Accounts Payable
	100.00
	89.30
	105.00

	Notes Payable
	100.00
	125.00
	71.60

	Other Current Liabilities
	100.00
	66.30
	73.60

	Total Current Liabilities
	100.00
	96.40
	89.70

	Long-Term Debt
	100.00
	110.20
	143.70

	Total Liabilities
	100.00
	96.60
	90.40

	Preferred Stock
	0.00
	0.00
	0.00

	Common Stock
	100.00
	202.80
	205.80

	Additional Paid in Capital
	100.00
	92.10
	127.00

	Retained Earnings
	100.00
	114.60
	130.30

	Shareholders' Equity
	100.00
	116.30
	135.20

	Total Liabilities and Equity
	100.00
	110.80
	122.50



Arada Electronic Indexed Income Statement
	Items
	Year

	
	1999
	2000
	2001

	Sales
	100.00
	107.30
	115.80

	Cost of Goods Sold
	100.00
	109.00
	124.60

	Gross Profit
	100.00
	105.80
	108.50

	Selling Expenses
	100.00
	124.20
	131.00

	General and Adm. Expenses
	100.00
	104.80
	103.90

	Total Expenses
	100.00
	117.30
	121.40

	Earning Before Interest and Tax
	100.00
	78.90
	78.50

	Other Income
	100.00
	239.30
	168.60

	Earning Before Tax
	100.00
	84.00
	81.40

	Taxes
	100.00
	78.50
	70.70

	Earning After Tax
	100.00
	90.30
	93.30


2.2.6.2. Statement of Items as Indexes Relative to a Base Year
The common size balance sheets and income statements can be supplemented by the expression of items as trends from the base year. For TOSSA electronic Corporation, the base year is 1999 and all the financial statement items are 100.00 for that year. Items for the two subsequent years are expressed as an index relative to that year. If the statement item were birr 22,500 compared with birr 15,000 in the base year, the index would be 150. Table 5 and 6 are an indexed balance sheet and an income statement. In table 5, the increase in cash is apparent. Note also the large increase in cash and inventories are also increasing from the base year to 2001. There is also a sizable increase in fixed assets.
On the liability side of the balance sheet, we note the fluctuating trend in accounts payable, notes payable and other current liabilities which resulted in constantly decreasing total current liabilities. Where as there is an increasing trend in long term debt from base year to the year 2001 the aggregate effect of which is the decreasing trend in total liability from base year to the 2001.

The common stock and retained earning shows an increasing trend from the base year to the year 2001 which resulted in the increase in total liability and equity from the base year to the year 2001.
When we consider the indexed income statement in table 6 we see the increase in sales, cost of goods sold and gross profits from the base year to the year 2001. Earning before taxation and taxes are decreasing from the base year to the final year. Finally, the earnings after taxation show the fluctuating trend.
	Activity 3.8
1. What are the differences between vertical and horizontal analysis?


DuPont Analysis
· 	Dear learners! Have you heard the word DuPont analysis before? If so, answer in writing before you read the following section.

DuPont analysis (also known as the DuPont identity, DuPont equation, DuPont Model or the
DuPont Method) is an expression which breaks ROE (Return on Equity) into three parts. The name comes from the DuPont Corporation that started using this formula in the 1920s. The DuPont Model developed in 1914 by F. Donaldson Brown of chemical company DuPont de Nemours & DuPont Corporation. It is a set of financial ratios and key figures relating to the Return on Investment (ROI). It is a technique that can be used to analyze the profitability of a company using traditional performance figures. It integrates elements of the Income Statement with those of the Balance Sheet. ROI = Net Profit Margin x Total Assets Turnover.












Self-assessment questions
 Multiple Choice Questions
1. Travel Air emerging regional air line, earns 6 percent on total assets but has a turnover on equity of 24 percent. What percent of the air line’s assets are financed with debt?
A. 30 %	C. 75 %
B. 25 %	D. 70 %
2. Chara Company has current ratio of 2.2 times, acid test ratio of 1.4 times and inventories of birr 55,000. What will be its current assets?
A. 90,000	C. 155,000
B. 151,250	D. 68,750
3. Which of the following ratio indicate the most liquidity position of the company?
A. Liquidity ratio	C. Profitability ratio
B. Activity ratio	D. Dent management ratio
4. Which of these are concerned with financial statement analysis to assure the protection of the	rights of the public?
A. Investors	C managers
B. Government	D. All of the foregoing

5. The implication of high fixed assets turnover ratio relative to industry average is:
A. presence of idle capacity
B. Possibility to expand activities without requiring additional capital investment
C. Under investment in fixed assets
D. Presence of low sales volume
6. The starting point for financial forecasting is
A. Estimating sales revenue and expenses
B. Estimating level of investment in assets
C. Estimating the additional fund needed
D. None of the foregoing



















	CHAPTER FOUR: INTRODUCTION TO MANAGERIAL ACCOUNTING 


Chapter objectives:
Dear students, after completing this chapter you should be able to:
· Define and differentiate between cost accounting, management accounting and financial accounting.
· Explain the importance of cost accounting, management accounting and financial accounting.
· Explain the cost-benefit philosophy and behavioral considerations in management accounting systems and the ethical considerations in management accounting.
4.1.  Purpose of an Accounting System
Dear students, as you have learnt in principles of accounting course, accounting as a language of business, is defined as the process of identifying, analyzing, recording, measuring, summarizing, interpreting and communicating economic information to permit informed judgments and decisions by users of the information. It is also viewed as an information system that provides essential information about economic activities of an entity to various individuals and groups.
In this course we will discuss about cost accounting, financial accounting, and management (managerial) accounting. Cost accounting is concerned with the measurement reports of financial and non-financial information related to the cost of acquisition and consumption of recourses. On the other hand, financial accounting is primarily concerned with the presentation of financial reports and communicates them to external parties for making decisions. The third field of accounting, managerial accounting deals with the provision of financial and non-financial information reports to internal parties who are responsible in discharging the management functions and decisions makings to achieve the goal of the organization.
Financial accounting is that basic process with management, investors, creditors, and other external parties as the users of the accounting information. Management accounting involves accumulating, classifying, interpreting, and presenting financial data primarily for management and other insiders. Financial accounting is governed by generally accepted accounting principles (GAAP), customs that have been adopted over time, and procedures and rules put forth by the Financial Accounting Standards Board (FASB). GAAP applies only to those cost accounting procedures that affect cost data, such as cost of goods sold and inventory used in financial statements. Generally, cost accounting is not subject to GAAP. Management uses cost accounting, a subset of management accounting, for planning and controlling operations and for decision making. The guiding light for cost accountants is usefulness. The cost data must be accumulated, classified, interpreted, and presented in ways that are useful to managers for decision making. A budget, the key to planning and controlling, involves cost accounting data. Where to set an optimal price for a product or service cannot be decided without knowing the cost of what is to be sold.
Although many of the examples in this course are product-related (cost accounting being traditionally viewed as a manufacturing support system), cost accounting is prevalent in and very useful to service-oriented firms. In fact, many financial service firms, like banks and insurance companies, make successful use of cost accounting to control, plan, and price their services. What is being; tracked in a cost accounting system is some type of cost object. A cost object is the cost of anything that management believes is important. For example, a cost object could be the cost of a product, the annual cost of running a department, the cost of maintaining a machine, or the cost of a checking account.
4.2.  Comparisons among Accounting Systems
The accounting system is the principal, and the most credible, quantitative information system in almost every organization. This system should provide information for four broad purposes:
Purpose 1: Internal routine reporting to managers for (a) cost planning and control of operations and (b) performance evaluation of people and activities.
Purpose 2: Internal routine reporting to managers on the profitability of products, brand categories, customer, and distribution channels, and so on. This information is used in marking decision on resource allocation and in some cases decisions on pricing.
Purpose 3: Internal non-routine reporting to managers for strategic and tactical decisions on matters such as formulating overall policies and long-range plans, new product development, investing in equipment, and special orders or special situations.
Purpose 4: External reporting through financial statements to investors, government authorities, and other outside parties. To satisfy external purposes, businesses must report income and inventory costs in accordance with the generally accepted accounting principles that guide financial accounting.
Activity
Question 1: What are the purposes of accounting system?

To better understand the essence and importance of cost accounting, it is good to have some insight about the two major sub elements of the accounting information systems: Financial Accounting and Management Accounting. Financial Accounting focuses on reporting to external parties. It measures and records business transactions in accordance with generally accepted accounting principles (GAAP). The ultimate purpose of Financial Accounting is to prepare general-purpose financial statements for use by external parties. These statements report the results of past financial activities.
Management accounting, on the other hand, measures financial and non-financial information that managers use to make decisions so as to achieve organizational goals. It includes both historical and estimated data that management uses to manage day- to-day operations and plan the future. Management accounting is wider in scope and overlaps with financial accounting to the extent that management uses the financial statements in directing current operations and planning the future. Management accounting focuses on internal reporting, and the reports of management accounting are not strictly governed by GAAP as they are meant for internal purposes only. The ruling criterion in management accounting is cost benefit analysis instead of generally accepted accounting principles. The end products of management accounting are tools of managerial planning and control.
Cost accounting provides information for both Financial and Management Accounting. Cost accounting is required all where cost information need to be collected and/or analyzed. Both require cost information; cost information is required for financial accounting to determine the cost of goods manufactured, or sold, and operational costs while preparing the Income Statement and to determine the value of inventories on the Balance sheet. Management accounting requires cost information to set product price, to identify potential areas that could be taken care of, or areas of possible cost reductions, and the like. Hence, cost accounting is important for both financial accounting and management accounting.
Both management and external parties share an interest in accounting information but the emphasis differ. Internal reporting focuses on management planning and controlling. This area is known as management accounting, focusing on internal customers, measures and reports financial and other information that assists managers in fulfilling goals of the organization. It is concerned with the first three purposes of an accounting system listed above. Financial accounting focuses on external reporting. It is concerned with the fourth purpose of an accounting system listed here above.
Cost accounting is indistinguishable from management accounting. The major purpose of cost accounting is to record, classify, accumulate and allocate the costs of company's products and services. This product costing is useful to managers for instance in setting prices. And it is also useful for inventory valuation and income determination (external purposes). Viewed from this angle, cost accounting is a part of management accounting plus a part of financial accounting.
Financial accounting is constrained by generally accepted accounting principles. These principles restrict the set of revenue and cost measurement rules and the types of items that are classified as assets, liabilities, and owners’ equity in balance sheet. In contrast, management accounting is not restricted to those accounting principles acceptable for financial reporting. For example, a consumer products company may present a particular estimated “value” of a brand name (such as the Coca-Cola brand name) in its internal financial reports for marketing, although doing so is not in accordance with generally accepted accounting principles.
Financial accounting takes a historical perspective. The reports it generates focuses on what has happened in the past. In contrast, management accounting emphasizes the future, providing budgets and other future projections in addition to historical reports. Main points of distinction between cost accounting and management accounting are enumerated here under. 
	
Areas of comparison
	
Management Accounting
	
Financial Accounting

	· Report format
	Flexible format, driven by user’s
	Based	on	generally accepted
accounting principles

	· Purposes of reports
	Provide information for planning, control, performance measurement and decision making
	Report on past performance

	· Primary users
	As a whole business or aggregate employees, Managers suppliers
	Division,		product	wise owners, lenders, customer government agencies

	· Units of measurement
	Historical or future dollars, physical measure in time or names of objects, or non-monitory events technical innovation
	Historical dollars

	· Nature of information
	Future oriented, objective for decision making, more subjective for planning relies on estimates
	Historical objective (oriented)

	· Frequency of reports
	Prepared as needed, may or may not be a regular basis or a regular basis minimum of once
	Prepared	on	a	regular	basis (minimum of once) a year

	· Legal compulsion
	As the discretion of management
	Compulsory



4.2.  Management Accounting Guidelines
Dear students, as it has been indicated previously, the field of cost and management accounting do not have their own guidelines. However, in every managerial process, certain guidelines (directives) are necessary for the purpose of allocating scarce resources, achieving targets and making sound decisions. For this reason, there are three important guidelines that help management accountants in providing the most value information in performing their functions. They are:
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(a) Cost-benefit approach
(b) Behavioral and technical considerations and
(c) Different costs for different purposes.
(a) Cost benefit approach Management accountants continually face resource allocation decisions. A cost benefit approach should be used in these decisions. Resources should be spent if they promote decision making that better attains organizational goals in relation to the costs of those resources. The expected benefits from spending those resources should exceed their expected costs.
(b) Behavioral and Technical considerations:	A management accounting system should have two simultaneous missions for providing information:
i) to help managers make wise economic decisions, and
ii) to motivate managers and other employees to aim and strive for goals of the organization.
Management is primarily a human activity that focus on how to help individuals do their jobs better. For example, it is often better for managers to personally discuss how to improve performance with underperforming workers rather than just sending these workers a report highlighting their underperformance to others for further evaluation or punishment.
(c) Different costs for different purposes. The different costs for different purposes theme is the management accountant’s version of the “one shoe does not fit all size” notion. A cost concept used for the external reporting purpose may not be an appropriate concept for internal routine reporting to managers. Consider the advertising costs associated with launching a major new product. For external reporting to shareholders, television-advertising costs are fully expensed in the income statement in the year they are incurred. In contrast, for evaluating management performance (internal reporting purpose), the television advertisement costs could be capitalized and then written off as expenses one several years,
4.3.  Management Philosophies of Continuous Improvement

Dear students, what do you think about management philosophy mean? Management philosophies refers to the approaches, viewpoint, attitude, beliefs or attitudes of managers or other authorized and responsible individual in the managerial process to achieve their pre-planned objectives. Several significant management philosophies evolved to deal with expanding global competition:
These include:
i). Just in time operating Technique (JIT)
ii). Total quality management (TQM)
iii). Activity Based Management (ABM) and
iv). Theory of Constraints (TOC)
i). Just in time operating Technique (JIT)
The JIT requires that all resources including materials, personnel and facilities be acquired and used only as needed. Its objectives are to improve productivity and eliminate wastage. All employers are encouraged to continuously look for ways to improve processes and save time.
ii). Total Quality Management (TQM)
Total Quality management (TQM) is a philosophy that required all functions work together to build quality into the organization product or service. TQM focuses on improving product quality by identifying and reducing or eliminating the waste of resources caused by poor product or service quality. Emphasis is placed on using resources efficiently and effectively to prevent poor quality and on examining current operations to spot possible causes of poor quality. Improved quality of both work environment and the product or service is the goal of TQM.
iii). Activity Based Management (ABM)
ABM is an approach to managing an organization that identifies all major operating activities, determines what resources are consumed by each activity, identifies what causes resource, usage way of each activity, and categorizes the activities as either adding value to a product or service or not adding value (non-adding value).
iv). Theory of Constraints:
According to the theory of constraints (TOC), limiting factors or bottlenecks, occur during the production of any product or service. Once managers identify such a limitation or constraint, they can focus attention and resources on it and thus achieve significant improvements. TOC helps managers set priorities for how they spend their time and other resource.Activity
Question 2: What are the major differences and similarities between financial and management accounting?

4.4. Ethical Considerations in Management

Professional accounting organizations promote high ethical standards. Professional accounting organizations such as the Institute of Management Accountants (IMA), the largest association of management accountants in the United States, play an important role in promoting high ethical standards. For example, the IMA has identified four standards of ethical conduct for management accountants: competence, confidentiality, integrity, and objectivity.
COMPETENCE
Each practitioner has a responsibility to:
1. Maintain an appropriate level of professional expertise by continually developing knowledge and skills.
2. Perform professional duties in accordance with relevant laws, regulations, and technical standards.
3. Provide decision support information and recommendations that are accurate, clear, concise, and timely.
4. Recognize and communicate professional limitations or other constraints that would preclude responsible judgment or successful performance of an activity.
CONFIDENTIALITY
Each practitioner has a responsibility to:
1. Keep information confidential except when disclosure is authorized or legally required.
2. Inform all relevant parties regarding appropriate use of confidential information. Monitor subordinates’ activities to ensure compliance.
3. Refrain from using confidential information for unethical or illegal advantage.
INTEGRITY
Each practitioner has a responsibility to:
1. Mitigate actual conflicts of interest. Regularly communicate with business associates to avoid apparent conflicts of interest. Advise all parties of any potential conflicts.
2. Refrain from engaging in any conduct that would prejudice carrying out duties ethically.
3. Abstain from engaging in or supporting any activity that might discredit the profession.
CREDIBILITY
Each practitioner has a responsibility to:
1. Communicate information fairly and objectively.
2. Disclose all relevant information that could reasonably be expected to influence an intended user’s understanding of the reports, analyses, or recommendations.
3. Disclose delays or deficiencies in information, timeliness, processing, or internal controls in conformance with organization policy and/or applicable law.Activity
Question 3: List the four standards of ethical conduct for management accountants?	________________________________________________________________





4.5.  Introduction to cost terms and Cost classifications
4.5.1. Cost Terminologies and Concepts
Dear students, in the previous chapter you have learnt the concepts of cost accounting, management accounting and financial accounting. This course (part I) mainly deals with cost accounting and the next part of this course will focus on management accounting. In this chapter you will learn about different cost concepts and classification that will be used for these two consecutive courses (Part I and II).
Many accounting reports contain several cost terminologies. A good understanding of the different cost terminologies is essential at least for the following two reasons: number one, it enables accounting information users to best use the provided information. Number two; use of common cost terminologies avoids confusion and misunderstanding. One of the common confusions is the distinction between costs and expenses. Many people use costs and expenses interchangeably. Thus, we start with the definition of costs and expenses.
Costs are all disbursements that are incurred in the course of generating revenue. For instance, purchase of raw materials represents a cost as the raw material is used to produce finished goods that generate revenue when sold. From the above definition, we can also understand that not all disbursements represent costs. For example, the payment of dividend is a disbursement but it does not help generate revenue. Hence, dividend is not a cost.
All costs initially represent assets. As the assets are used in generating revenue, the amount consumed becomes an expense. The costs of the assets used should then be recognized as expenses so as to properly match revenues and expenses in the process of determining the income of the organization over a given period. For instance, Insurance Premiums paid in advance to serve the coming period are initially recognized as assets, but as time passes on the asset continually change to an expense. Another example may be a motor vehicle bought for use in the coming five years is an asset when initially purchased. However, as the asset is used up in the process of generating revenue, the cost gradually becomes an expense. Thus, expenses are expired costs, or costs used up in the course of generating revenue. The figure on the next page may show the distinction between costs and expenses.
Disbursements for the purpose of generating revenue

Costs (Assets)
Unused portion of Cost  (Asset)                                       Used portion of Cost (Expense)
The distinction between costs and expenses is important for the preparation of financial statements for service, merchandising and manufacturing firms. However, it has more importance for manufacturing enterprises. This is because costs incurred in the manufacturing process do not become expenses until the product is sold and thus, items that are fully or partially manufactured represent costs and should be recognized as assets on the Balance sheet. Therefore, financial reporting in manufacturing firms has some complication as compared to financial reporting in the service and merchandising businesses. The coming three chapters are about costing in manufacturing firms, and hence we focus on manufacturing costs in particular in the following part of this chapter.
4.6. Costs in a Manufacturing Firm

Manufacturing firms normally purchases raw materials and then change these raw materials into finished goods by combining human talent and machinery. The cost of any product is then the combination of cost of materials used, direct labor employed and cost of machineries. These manufacturing costs are commonly known as direct materials, direct labor, and manufacturing overhead or indirect manufacturing costs. The classification of these costs as direct and indirect is in relation to the cost object with which they are associated. A cost object is anything that deserves a separate measurement of costs. A cost object can be a product, a process, or a department. Some costs can exclusively traceable to the cost object, and thus, are called direct costs. On the other hand, there are costs that cannot be directly traceable to the cost object easily because of some reason, such costs are called indirect costs.
Direct costs are costs that can be directly traced to a cost object in an economically feasible way. For instance, cost of lumber can be a direct cost of furniture products like coffee tables, and chairs. Cost of lumber is a direct cost because the cost of lumber can be directly traced to the coffee table, and chair manufactured. In addition, the cost of lumber is material enough to be assigned to the cost object (the coffee table, and chairs) in a cost- effective way. Thus, when we talk about direct cost there are two things to consider: one is whether the cost can be directly traced to the cost object, and the other is whether that cost is traced to the cost object economically.
In a manufacturing firm, direct costs encompass direct material and direct labor. A direct material is the cost of material that is directly entered into the manufactured product.
However, this is a necessary condition but not sufficient to classify the cost as direct. That cost must also represent a significant portion of the total cost of the product manufactured. For instance, glue and nails are one of those materials that directly enter into the final product. However, their cost does not justify being treated as direct material because of the fact that the high cost of maintaining bookkeeping records for such a small amount is more than the benefit of treating them as direct material. Such items are called indirect materials.
A direct labor represents the wages paid to those individuals who exclusively work for the cost object. For instance, wages paid to assemblers in an automobile manufacturer is considered as direct labor. However, wages paid to supervisory personnel is not a direct cost because it cannot be traced to a single cost object. That cost is common to more than one cost object, and thus cannot be traced to a cost object directly.
Indirect costs are costs that are related to a cost object but cannot be traced to the cost object directly and in an economically feasible way. It includes indirect materials, indirect labor and other manufacturing costs. Some of these costs are common costs that relate to more than one cost object, and hence cannot be directly traced to a specific cost object. Indirect manufacturing costs are also called manufacturing overhead, manufacturing burden or factory overhead. Even though such costs cannot be directly traced to the cost object, they should be allocated to the many cost objects in some way.
The diagram shows direct and indirect cost assignment to a cost object.
Cost accumulation	Cost assignmentCost allocation
Indirect costs

Cost object
Cost tracing
Direct costs

Activity
Question 4: What is cost? 	

The classification of costs as direct and indirect is not absolute. The same cost can be indirect in relation to one cost object and may be direct for another cost object. The classification of costs as direct and indirect is, therefore, defined in relation to the cost object. Thus, the cost object must first be identified; otherwise the classification may suffer from a thought that renders it meaningless.
4.7.  Cost Classifications

Dear students, the costs previously discussed based on the purpose, nature or behavior can be reclassified in different ways. In this section you will explore about the different classifications.
Cost behavior: Variable and Fixed costs
A cost can be classified as variable or fixed depending on how the cost behaves as the volume of activity changes. Some costs respond correspondently with the volume of activity. As the volume of activity increases, the cost increases, and as the volume of activity falls, the cost drops. Yet there are costs that do not respond to a change in the volume activity. Such costs are called fixed cost.
Variable costs are those costs that varies in total as the volume of activity changes; the total dollar amount rise, when the volume of activity increases, and falls when the volume of activities go down. However, the unit cost remains the same. For instance, a car assembler needs steering wheel for the cars it assembles. The number of steering wheels required depends on the number of cars assembled. For instance, if four wheels are required for a single car, then for four cars, sixteen wheels are required, for eight cars, thirty two wheeling tires are needed. Assuming that one car need four wheel and one wheel costs Birr 500.00, the following table shows a comparison between the total cost and total cars assembled.
	Volume	of
activity (cars)
	Total  wheels
required
	Cost of total
wheels

	1
	4
	2,000.00

	2
	8
	4,000.00

	3
	12
	6,000.00

	4
	16
	8,000.00

	5
	20
	10,000.00

	6
	24
	12,000.00


Graphically, the relationship between the total cost of wheel and cars assembled looks the following:14000
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The graph shows that the total cost of wheels increases as the number of cars assembled increases. You should mark that it is only the total cost that varies with the volume of the activity; the unit cost is the same. In the example above, the unit cost of the wheel is birr
500.00 at each level of activity.
Fixed costs are those cost that remain constant in total dollar amount as the level of activity changes. For instance, in the above example the wages of janitors and guards is constant in spite of the number of cars assembled. Another example may be the rent expense that ACT pays; the cost of rent does not increase whether the number of students enrolled is 1,000, 2,000, 3,000, or 4,000. It remains constant regardless of the number of students.
The graph below shows the nature of fixed costs over the relevant range.
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When we talk about variable and fixed costs, we are talking about the total dollar amount instead of the unit cost. Assume that the car assembler in the previous example rented the factory site for Birr 100,000.00 per year. Whether 1000, 2000, 3000, or 4,000 cars are assembled in a year, the rent expense is the same. However, the unit cost varies. It decreases or increases as the volume of activities increases or decreases. For instance, the rent expense in the above example is Birr 100,000.00 in a year. The unit cost would be Birr 100 if 1000 cars are assembled, Birr 50 if 2000 cars are assembled, Birr 33.33 if 3000 cars are assembled and Birr 25 if 4000 cars are assembled. Thus, when we talk about variable and fixed costs, we are talking about the total dollar amount instead of the unit cost.
A fixed cost is fixed only over a certain range, which is called the relevant range. For instance, in the previous example, the factory rent expense will be fixed may be only up to 5000 car assembly. If the organization needs to assemble more cars, the factory may not host all the work. Thus, there comes a need to rent a spacious site that probably costs higher. Therefore, costs are fixed only over some range. If the volume activity exceeds that range the cost changes. 
Some costs have both fixed and variable components. These costs are often called mixed costs, semi variable or semi fixed costs. For instance, the rental charges for a copier machine may be Birr 100 per month and Birr 0.1 per a page copy. The base payment 100 is fixed whereas the Birr 0.1 charge per copy is variable.
Product costs and period costsActivity
Question 5: Distinguish between variable and fixed cost?

A product cost includes all costs that are assets when they are incurred and become cost of goods sold when the product is sold. All manufacturing costs: direct material, direct labor, and manufacturing overhead are products costs. These costs are also called manufacturing costs. Some of these costs first creates inventory of raw materials before going through some processes, and then the costs change into work in process as the raw materials purchased passes through the manufacturing processes, and eventually all manufacturing costs become finished goods. Until sold, these costs remain as assets in the form of finished good. Thus, such costs are also called inventoriable costs.
Period costs are those that are treated as expenses when they are incurred, as they are presumed to benefit only the current period. In manufacturing firms, these costs are also called non-manufacturing costs. They are not involved directly in the manufacturing process and mainly they expire as time passes on. The two types of period costs are selling costs, and administrative costs. Selling costs are those costs that are incurred in relation to the selling activities of the firm. Selling costs include, Advertising costs, Sales commission, Salespersons salaries, and Depreciation on Store Building, Delivery costs etc. Administrative costs are those costs that are incurred in relation to the administration of the firm. Such costs include among others, Office Supplies, Office Salaries, and Depreciation on Office Building.
The treatment of non-manufacturing costs, both Selling and Administrative, is very much similar among Manufacturing, Merchandising and Service enterprises. Most are recognized as expenses when incurred as they benefit only the current period.
	Prime and conversion costs
The term prime cost refers to the sum of direct materials and direct labor used in production. Because it includes direct material and direct labor, prime costs are also called direct manufacturing costs. Conversion costs are the combination of direct labor and manufacturing overhead. Conversion costs are the costs of converting direct materials into finished manufactured part. Conversion costs are also called processing cost. The following diagram shows the interrelationship of product cost.
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     Controllable and Non-controllable costs
Some costs are controllable at some level of management within the organization and some costs are not. For instance, factory rent may be controllable at the vice president level but this cost cannot be altered by the decision of a foreman. Thus, factory rent is a controllable cost to the vice president but it is uncontrollable for the foreman.
Controllable costs are all costs that can be altered at a particular level of management. In the above example, the factory rent is a controllable cost to the Vice President. The Vice President is held accountable for the cost. Non-controllable cost, on the other hand, cannot be influenced or altered at that particular level of management. For instance, the factory rent cost cannot be influenced by the foreman and thus, the Foreman is not accountable to that cost. Nonetheless, all costs are controllable at top management level over the long run.
Unit costs and total costs
Units costs are the average cost of each units produced. Total cost represents the total cost of goods manufactured. Unit costs are computed by dividing total costs by the total units produced. Both total costs and unit costs are important in many areas. However, the use of unit cost requires some caution. Suppose 10,000 quintals of wheat flour are produced at a total cost of Birr 2,500,000.00. If 7,500 quintal of flour has been sold during the period, unit costs are essential to assign the total cost to cost of goods sold, and ending inventory.
The unit cost would be the total cost divided by the total units produced i.e.
Total manufacturing cost/ Number of units produced = 2,500,000/10,000 = $250.00 per quintal 
Cost of goods sold is then, Birr 250 X 7,500	1,875,000000 Ending inventory Birr 250 X 2,500		625.000.00
However, unit costs must be used with some precaution. Assume that out of the 2,500,000.00 total cost, the 500,000.00 is fixed that does not change over the relevant range. The management may forecast the cost for the upcoming period under different levels of production. Look at the following budget:
	Units	to	be
Produced
	Variable
cost per unit
	Total  variable
cost
	Total	fixed
Cost
	Total cost
	Unit costs

	5,000
	200
	1,000,000.00
	500,000.00
	1,500,000.00
	300.00

	7,500
	200
	1,500,000.00
	500,000.00
	2,000,000.00
	266.67

	10,000
	200
	2,000,000.00
	500,000.00
	2,500,000.00
	250.00

	12,500
	200
	2,500,000.00
	500,000.00
	3,000,000.00
	240.00

	15,000
	200
	3,000,000.00
	500,000.00
	3,500,000.00
	233.33


To take the unit cost of the previous year to forecast the future would lead to erroneous conclusion. The unit cost changes as the level of activity changes. For budgeted amount less than the previous year production, the unit cost is higher than Birr 250.00 as the fixed cost will be absorbed by a relatively smaller amount. For an amount greater than 10,000, the unit cost falls as the fixed cost is shared by a relatively large number of units. So in using unit costs, it is better to analyze how that unit cost is composed of.
Other cost terminologies and concepts Cost driver
A cost driver is a factor that casually affects costs over a given time span. For instance, there is a cause and effect relationship between volume of activity and total cost of a cost object. Thus, volume of activity is a cost driver. Costs that are fixed in the short run do not have a cost driver, though they may have a cost driver in the long run. Different types of costs respond to widely differing cost drivers.
Differential cost
Often managers are in a position to choose between two or more alternatives. Which alternative to pursue requires an evaluation of the different courses of action. An evaluation of the different courses of action is possible either by comparing the aggregate cost of each course of action or by looking at the differential cost only. Differential cost is the increase or decrease in cost that is expected from a particular course of action as compared with an alternative course of action. For instance, a shoe manufacturer can establish its own shoe tie processing factory or buy it from outside. Assume the cost of producing a pair of shoe tie is birr 0.5 and the cost of a pair of shoe tie bought from outside is Birr 0.4; the differential cost is Birr 0.20. Differential cost is also called incremental cost.
A special case of the differential cost is the marginal cost. Marginal cost represents the extra cost incurred when one additional unit is produced. Marginal costs differ across different ranges production as the efficiency of production varies along with production levels.
      Sunk cost
These are costs that are already incurred and cannot be reversed by a subsequent decision. Except for its impact on income tax, sunk costs are irrelevant for future decision-making. For instance, you have constructed a hotel in an outskirt of a town expecting that many people come and enjoy particularly on the weekends. However, after the hotel is constructed, you found only about 20% of the people you normally expect. Therefore, you want to change the hotel premises for other purposes. What is the importance of the construction cost for the proposed change? The cost incurred in constructing the hotel is a sunk cost that cannot be reversed and thus irrelevant for the decision on hand.
Opportunity cost
Opportunity cost is the income forgone while pursuing one course of action ignoring the next best alternative. For instance, assume you have Birr 20,000.00, and you are considering two things to do with this money. One option is to join a College, and the other option is to open a photocopy business. If you join the College, you may have an employment after three years, but you lose the money that you can get, had that sum been invested in the photocopy business. The opportunity cost of going to college is the income forgone had that money been invested in the photocopy business.
Opportunity cost differs fundamentally from other costs in that it does not represent a transaction that requires disbursement. However, opportunity costs should be considered in all managerial decisions.
Activity :
Question 6: Among the three costs classification for Decision Making , which cost is irrelevant for Decision Making and why?

4.8. Financial Statements of a Manufacturing firm

Financial statements of a Manufacturing company are more complex as compared to financial statements of Merchandising and Service companies. Particularly, the Balance sheet, and Income statement of a Manufacturing enterprise are somewhat different from their Merchandising and Service counterpart. All costs mentioned above should be properly accounted for and reported in the financial statements of a manufacturing firm, which is more complex than that of the Merchandising and Service complements.
	Balance Sheet of a Manufacturing Firm

The Balance sheet of a manufacturing firm differs from the Balance sheet of a merchandising firm principally by the types of inventories reported. A manufacturing firm carries three types of inventories namely, Direct Materials, Work-In-Process, and Finished good. Inventory of Direct Material represents the costs of materials that are not yet entered into a manufacturing process. Such materials may be purely raw materials that have not received any processing before such as agricultural outputs, or they may be semi processed or fully processed products of another firm like wheat flour directly going into Biscuit in Food Complex industries.
Inventories of work in process represent all goods that are undergoing some manufacturing process but yet not finished to be dispatched for use by customers. The costs of work in process inventory include all the manufacturing costs incurred so far in the manufacturing process; the cost of direct materials, the costs of labor, and applied manufacturing overhead. The finished good inventory embodies the final product that is not yet sold. The cost of finished good inventory includes all manufacturing costs, direct material, direct labor, and manufacturing overhead incurred to produce that product. The following partial Balance Sheet may show the presentation of inventories in a Manufacturing firm.



Aleder Furniture Factory
Balance Sheet
As at December 31, 2018
	Current assets 
	

	Cash on Hand
	12,669.00

	Cash in Bank
	245,980.00

	Account receivables
	125,468.00

	Allowance for doubtful account
	4,578.00

	Direct material inventory 
	117,450.00

	Work in process inventory 
	             131,600.00

	Finished good
	182,000



4.8.1. Income Statement of a Manufacturing Firm

Income statement of a manufacturing firm differs from income statement of a merchandising firm by the cost of goods manufactured caption. A merchandising firm sells goods after buying it from a manufacturing firm. But a manufacturing firm sells goods that are internally produced. Hence, the costs of goods sold caption contains cost of goods manufactured instead of purchase. The amount of purchase can easily be found from the ledger, but cost of goods manufactured cannot. Cost of goods manufactured must first be computed before the income statement is prepared.
A merchandising business can monitor operational performance more easily than a manufacturing business because they easily know their selling price and buying price. However, a Manufacturing firm cannot easily identify the cost of production. Further, there are rooms in a manufacturing business to make operations more efficient. Therefore, many manufacturing businesses prepare their income statements more frequently than merchandising businesses. Frequent preparation allows them to know the results of operation and thereby alter operational strategies if the results are not satisfactory.
For comparison purposes, here below you will find income statement of a merchandising and manufacturing business (a hypothetical example).







Tana Import PLC
 Income statement
For the year ended December 31, 2018
	Sales
	1,200,000.00

	Cost of goods sold:
	



	Merchandise inventory, January 1, 2018
Purchase
Merchandise available for sale
Less Merchandise inventory December 31, 2018 Cost of merchandise sold
	120,000.00
960,000.00
1,080,000.00
240,000.00
840,000.00

	Gross profit
	360,000.00

	Operating expenses: Selling expenses Administrative expenses Total operating expenses
Net income
	
85,000.00
75,000.00
160,000.00
200,000.00


Alder Furniture Factory
Income statement
For the year ended December 31, 2018
		Sales
	1,831,600.00

	Cost of goods sold:
Finished good inventory, January 1, 2018 Cost of goods Manufactured
Cost of finished goods available for sale
Less finished goods inventory December 31, 2018
Cost of merchandise sold
	
157,000.00
1,101,750.00
1,258,750.00
182,000.00
1,076,750.00

	Gross profit
	754,850.00

	Operating expenses: Selling expenses Administrative expenses Total operating expenses
Net income
	
330,000.00
168,850.00
498,850.00
256,000.00


A comparison of the two statements shows the following facts. Purchase in a merchandising firm represents goods that are bought over a definite specified period, a year in the above example. The total purchase made in that period is added to the beginning inventory balance and yield the total cost of goods available for sale in that period. The manufacturing equivalent is the cost of goods manufactured, which represent the total manufacturing cost of goods produced in that period or year.
The cost of goods manufactured by it self needs a computation that presents the cost of direct material used, cost of direct labor incurred, and factory overhead costs. The direct material used alone is a separate schedule that shows the direct material placed in production in that period. In general the following four steps are required to prepare income statement of a manufacturing firm.
Step 1 – The schedule of Direct Materials used in production
The cost of direct material used is equivalent to the beginning inventory of direct material plus purchases made during that period less the direct material left at the end of the period. For illustration purposes, the above income statement of Alder Furniture Factory will be used.
Direct Materials used = Beginning Direct Materials inventory + Direct Materials Purchased – Ending Direct Materials inventory
Assume that the direct materials inventory of Alder Furniture Factory amounts to Birr 124,000.00 at the beginning of the year i.e., as of July 1, 2018, purchases of Birr 440,000.00 and freight costs Birr 1,600.00 is made during the year, and the amount of direct materials inventory at the end of the year is Birr 117,450.00. The direct material used is therefore will be shown in the schedule below.
Schedule 1- Schedule of direct material used

	Beginning direct material inventory
	124,000.00

	Add: Total cost of direct materials purchased Direct materials purchased
Freight in
	
440,000.00
1,600.00
441,600.00

	Direct materials available for use
	565,600.00

	Deduct: Ending direct materials inventory
	117,450.00

	Direct materials used in production
	448,150.00



This schedule can be presented either separately or can be incorporated to the cost of goods manufactured schedule.
Step 2 – The schedule of cost of goods manufactured
To determine the cost of goods manufactured, three factors are necessary: cost of direct materials used, cost of direct labor, and manufacturing overhead. Extending the same example, let say the cost of direct labor employed is Birr 437,500, and the following overhead costs are incurred:
	Indirect labor
	98,600.00

	Depreciation on factory equipment
	44,600.00

	Light and power
	43,600.00

	Depreciation of Factory building
	12,000.00

	Insurance expense on factory properties
	9,500.00

	Property tax
	19,500.00

	Factory supplies expense
	5,800.00

	Miscellaneous factory costs
	4,100.00

	Total overhead
	237,700.00



Cost of goods manufactured = beginning work in process inventory + (direct material used + direct labor incurred + manufacturing overhead) – ending work in process inventory
Schedule 2- Schedule of cost of goods manufactured
	Work in process inventory January 1, 2018
	110,000.00

	Add: Direct Materials used* (previous schedule) Direct labor
Factory overhead
Manufacturing cost incurred during the year
	448,150.00
437,500.00
237,700.00
1,123,350.00

	Total work in process inventory during the year
	1,233,350.00

	Deduct: Work in process inventory December 31, 2018
	131,600.00

	Cost of goods manufactured
	1,101,750.00


Step 3 – The schedule of cost of goods sold
The cost of goods sold represents the cost of goods that are sold during a given year. The cost of goods sold is computed using the following formula:
Cost of goods sold = Beginning finished good inventory + cost of goods manufactured – ending finished good inventory
Assume that the finished good inventory as of the beginning of the year is Birr 157,000.00, and the ending inventory of finished good inventory is Birr 182,000.00. The cost of goods sold is then prepared as follows:
Schedule 3 – schedule of cost of goods sold
	Finished goods inventory, January 1, 2018
	157,000.00

	Add: Cost of goods manufactured*
	1,101,750.00



	Cost of goods available for sale
	1,258,750.00

	Deduct: finished good inventory December 31, 2018
	182,000.00

	Cost of goods sold
	1,076,750.00


* The cost of goods manufactured is obtained from the previous schedule.
      Step 4 – The income statement
All the above schedules are inputs one to the other. The ultimate goal of making all the schedules is to prepare the income statement. The income statement contains three main elements, and these are: Sales, Cost of goods sold, and Operational expenses.
The cost of goods sold is deducted from sales to arrive at gross profit or gross margin. From the gross margin, operational expenses are deducted to determine net income assuming no income tax.

     Schedule 4 – schedule of the income statement
The income statement of Alder Furniture Factory looks the following

	Sales
	1,831,600.00

	Cost of goods sold:
	 1,076,750.00

	Gross profit
	754,850.00

	Operating expenses: Selling expenses Administrative expenses Total operating expenses
Net income
	
330,000.00
168,850.00
498,850.00
256,000.00


The above income statement is called a single step or condensed income statement, as it does not show how each element is constructed. The separate schedules are inputs to the income statement. It is also possible to include all the schedules at a time to prepare the income statement. Such a statement contains detailed information about each item. Such a statement is called multiple step income statement. The statement in the following page is a multiple step income statement of ALDER Furniture Factory.

ALDER Furniture Factory 
Income statement
For the year ended, December 31, 2018

	Sales
	1,831,600.00

	Less cost of goods sold:
Finished goods inventory, January 1, 2018
	157,000.00

	Work in process inventory, January 1, 2018
	110,000.00

	Work in process during the year:
	
	

	Direct materials used:
	
	

	Direct materials, January 1, 2018
	124,000.00
	

	Direct materials purchased (including
	441,600.00
	

	freight in)
	
	

	Direct materials available for use
	565,600.00
	

	Direct materials, December 31, 2018
	117,450.00
	

	Direct material used
	
	448,150.00

	Direct labor
	437,500.00

	Factory overhead:
	

	Indirect labor
	98,600.00

	Depreciation on factory equipment
	44,600.00

	Light and power
	43,600.00

	Depreciation of Factory building
	12,000.00

	Insurance expense on factory properties
	9,500.00

	Property tax
	19,500.00

	Factory supplies expense
	5,800.00

	Miscellaneous factory costs
	4,100.00

	Total Factory Overhead
	                              237,700.00



	Total manufacturing cost during the year
	1,123,350.00

	Total work in process during the year
	1,233,350.00

	Deduct: Work in process, December 31, 2018
	131,600

	Cost of goods manufactured
	1,101,750.00

	Cost of goods available for sale
	1,259,250.00

	Deduct:	Finished	good	inventory, December 31, 2018
	182,000.00

	Cost of goods sold
	1,076,750.00

	Gross profit
	754,850.00

	Deduct: Operational expenses:
	

	Selling expenses
	330,000.00

	Administrative expenses
	168,850.00

	Total operational expenses
	498,850.00

	Net income
	256,000.00



     Chapter Summary

Cost accounting is an accounting that provides cost information not only for determination of cost of something but also for controlling of costs of activities (products, services, projects, departments, processes, etc) and for decision-making. Cost accounting concerned with recording, classifying and summarizing costs for determination of costs of products or services, planning, controlling and reducing costs and furnishing of information to management for decision making.
The term management accounting refers to an accounting for the management, i.e. accounting that provides necessary information to the management for discharging its functions. The functions of the management are planning, organizing, directing and controlling. Thus, Management accounting provides information to management so that planning, organizing, directing and controlling of business operations can be done in an orderly manner.
Financial accounting- is defined as the art of recording, classifying, measuring and summarizing in a significant manner and in terms of money, transactions and events, which are in part at least, of a financial character and interpreting the results thereof.
Accounting systems should serve multiple decision purposes, and there are different measures of cost for different purposes. The most economically feasible approach to designing a management accounting system is to assume some common wants favorite of decisions and choose cost objects for routine data accumulation in light of these wants.
The chapter has concentrated on definitions and explanations of many widely used cost accounting terms. The most basic distinction is between direct and indirect costs. The same cost may be direct regarding one cost object and indirect regarding other cost objects. This unit has merely linked the vast number of classification of costs that have proved useful for various purposes.
4.9.  Self-Test Questions

     True or false items
1. Managerial accounting is a branch of financial accounting and serves essentially the same purposes as financial accounting.
2. Although financial and managerial accounting differ in many ways, they are similar in that both rely on the same underlying financial data.
      Multiple choice
3. The function of management that compares planned results to actual results is known as:
A. 
B. planning.
C. implementing
D. Evaluating
E. communicating
F. none
4. 
5. financial accounting differs from management accounting in one of the following area:
A. It provides financial and non- financial information.
B. The report format is based on the users need.
C. The users of the financial information are internal.
D. The time spans of the report usually covers one year or less.
E. None
6. Which of the following statement is incorrect about the ethical conduct for management accountants?
A. Refrain from using confidential information for unethical or illegal advantage.
B. Perform professional duties in accordance with relevant laws, regulations and technical standards.
C. Refrain from engaging in any supporting activity discredit the profession.
D. All
E. None
7. In a manufacturing business enterprise, costs of the goods manufactured include:
A. 
B. Costs of direct materials
C. Manufacturing overhead costs
D. Direct labor costs
E. All of the above
F. None of the above
8. The operating cycle that best describes the transfer of raw materials to the factory from stores and the application of labor and other factory facilities to complete the manufacturing process of the product is known as:
A. Ware housing
B. Selling
C. Procurement
D. Production
E. None
9. Which of the following is not classified under factory overhead cost?
A. packing materials costs
B. Lubricants’ cost for factory operations
C. Office supplies costs
D. Factory line supervisors costs
E. None of the above
10. One of the following costs represents non-manufacturing costs
A. Sales salaries
B. Insurance expenses on factory equipment & machinery
C. Daily wages expenses of factory workers
D. Heat, light and power consumption to operate the factory
E. None of the above
11. One of the major functions of Cost Accounting is supplying enough information to management to achieve the greatest efficiency and profit under competitive conditions. Which of the following questions might be answers by cost Accounting? 
A. Is our plant operating efficiently and economically?
B. Which of our costs are out of line and how can they be controlled?
C. Are our sales prices set realistically in relation to costs?
D. All of the above
E. None of the above
Answer Question No 11, 12 and 13 based on the following information obtained from cost Account section of Awash Manufacturing enterprise.
The following costs were incurred during the month of December.
Direct materials used	Br 206,180
Direct labor cost--------------Br.341,220
Depn Factory plant assets ----Br.60,000
Indirect materials used --------Br. 40,000
Indirect labor cost	Br30,000
12. What were the prime costs of the month of December?
A. Br 341,220
B. Br 336,180
C. Br. 547,400
D. Br 206,180
E. None
13. What were the conversion costs?
A. Br.416,800
B. Br 336,180
C. Br. 547,400
D. Br 341,220
E. None
14. What were the total manufacturing costs for the month?
A. Br. 677,400
B. Br 753,580
C. Br. 336,180
D. Br. 547,400
E. None
15. If 2,000 units (finished goods) of an item is produced using direct material	cost of Br. 10,000; direct labor cost of Br. 30,000 and overhead is applied at a rate of 2 times the direct labor cost. The unit cost of producing this item is:
A. Br. 5
B. Br. 20
C. Br. 50
D. None of the above
16. ABC Manufacturing Company has the following cost data:
Direct materials:	Beginning bal	Br 10,000
Net materials purchases…	15,000
Ending materials Balance	5,000
If direct labor cost is 50% of direct materials used; and overhead is 150% of direct labor costs used, then the total costs of production will be:
A. Br. 40,000	B)  Br. 45,000  C, Br. 30,000 D. Br 20,000	E. None
Fill in the blank
17. 	 is	an	accounting	which	primarily	concerned	with	the summarizations and presentations of revenues and expenses of a specified period and shows the financial position of a particular entity at a specific date for external parties.
18. 	is guideline (method) are necessary for the purpose of allocating scarce resources, achieving targets and making sound decisions.
19. One of a Standard of Ethical Conduct for Management Accountant which Maintain an appropriate level of professional expertise by continually developing knowledge and skills is called	.
Part III. Answer the following questions in your own words
1. Do service sector companies have inventoriable costs? Explain
2. Why do managers consider direct costs to be more accurate than indirect costs?
3. Describe the different categories of inventories commonly found in manufacturing companies.
4. Explain the purpose of cost information in the management functions?
5. What are the three basic elements of manufacturing cost of a product?
6. Distinguish between cost and expense.




Part IV: work out questions
1. Foxwood Company accumulated the following data for 2007.
							Inventories:
	Jan 1, 2007              
	Dec 31, 2007

	Finished Goods
	$ 52,000
	$ 54,000

	Work in Process
	29,600
	27,800

	Raw materials
	14,200
	15,000

	Direct labor
	
	95,000

	Raw material purchases
	
	138,000

	Indirect labor
	
	15,300

	Indirect materials and supplies
	
	10,800

	Factory utilities
	
	18,600

	Depreciation expense- Factory
	
	14,000

	Factory rent
	
	18,000

	Payroll taxes- Factory wages
	
	8,100

	Repairs and maintenance-Factory
	
	6,000

	Insurance expense- Factory
	
	6,800

	Miscellaneous factory expenses
	
	5,200

	Sales
	710,000

	Sales discount
	12,000

	Selling expenses
	95,600

	General expenses
	75,300

	Interest expenses
	7,000

	Required:
	


a) Prepare a statement of cost of goods manufactured.
b) Prepare an income statement (assume an income tax rate of 25%)




2. Consider the following account balance for ABC manufacturing company in the year 2004.
	
	Beginning balance
	End balance

	Direct material inventory
	$22,000
	$26,000

	WIP inventory
	21,000
	20,000

	Finished goods inventory
	18,000
	23,000

	Purchase of direct material
	
	75,000

	Direct labor cost
	
	25,000

	Indirect labor cost
	
	15,000

	Plant insurance
	
	4,000

	Insurance- administrative
	
	5,000

	Depreciation - plant building and equipment
	9,000

	Depreciation - administrative building
	3,000

	Repair and maintenance – factory equipment
	4,000

	Marketing, distribution and customer service cost
	93,000

	General and administrative cost
	29,000

	Required
	


a) Calculate cost of direct material used
b) Calculate cost of goods manufactured
c) Calculate cost of goods sold
d) If revenue for the year is $300, 000, prepare income statement for the Company.




















	CHAPTER ONE: COST-VOLUME-PROFIT (CVP) ANALYSIS


Dear learners, after completing this chapter, you should be able to:
· Understand the cost volume profit (CVP) assumptions
· Distinguish between contribution margin and gross margin
· Explain Essential features of CVP analysis
· Determine break-even point and output to achieve target operating income
· 	Explain the use of CVP analysis in decision making and how sensitivity analysis can help managers cope with certainty
· Apply CVP analysis to a multi-product company
· Apply CVP analysis to multiple cost driver situations
5.1.  Introduction

In this unit you will be introduced with one of the most powerful management accounting toll that helps managers in quick decision about the income generated at different activity level. The tool is termed as Cost-Volume-Profit (CVP) Analysis, as the relationship among cost, profit and the volume of output or the level of activity is considered in the model.
Understanding the relationship between a firm’s costs, profits and its volume levels is very important for strategic planning. When you are undertaking a new project, you will probably ask yourself, “How many units do I have to produce and sell in order to breakeven?” The feasibility of obtaining the level of production and sales indicated by that answer is very important in deciding whether or not to move forward on the project in question. Similarly, before undertaking a new project, you have to assure yourself that, you can generate sufficient profits in order to meet the profit targets set by your firm. Thus, you might ask yourself, “How many units do I have to sell in order to produce a target income?” Breaking Even? You could also ask, “If I increase my sales volume by certain percent, what will be the impact on my profits?” The topics in this unit are, therefore designed to acquaint you with the ability of applying Cost-Volume- Profit (CVP) Analysis in answering different questions while you are taking part in planning decision in different types of organizations.
Although the term “profit” is attached in the CVP model; it does not mean that, the application of CVP analysis is limited to business organizations only. It can be used by government and nongovernmental organizations (NGOs) as well in planning their activity levels in light of the recourse availability and constraints.


5.1. Meaning, Underlying Assumptions and Importance of CVP Analysis
5.1.1. Meaning
Examining shifts in costs and volume and their resulting effects on profit is called cost-volume-profit (CVP) analysis. This analysis is applicable in all economic sectors, including manufacturing, wholesaling, retailing, and service industries and not-for- profit (NFP) organizations. CVP can be used by managers to plan and control more effectively because it allows them to concentrate on the relationships among revenues, costs, volume changes, taxes, and profits.
CVP analysis can be used to determine a company’s break-even point (BEP), which is that level of activity, in units or Birr value, at which total revenues equal total costs. At breakeven, the company’s revenues simply cover its costs; thus, the company incurs neither a profit nor a loss on operating activities. Companies, however, do not wish merely to “break even” on operations.
The break-even point is calculated to establish a point of reference. Knowing BEP, managers are better able to set sales goals that should generate income from operations rather than produce losses. CVP analysis can also be used to calculate the sales volume necessary to achieve a desired target profit. Target profit objectives can be stated as either a fixed or variable amount on a before- or after-tax basis. Because profit cannot be achieved until the break-even point is reached, the starting point of CVP analysis is BEP. It also helps in conducting a sensitivity analysis to understand how the change in variables in the CVP model affects the profitability.
After going through the major assumptions upon which the CVP model is developed, you will be exposed through the application of CVP in determining the BEP, target profit; in a single and multiple product companies. You will also come across on how CVP is used to conduct a sensitivity analysis as well as its application in NFPs.
Notice that on advanced managerial accounting courses you will come across with diverse and advanced applications of CVP analysis in various financial and strategic decisions.
· Cost-volume-profit analysis determines how costs and profit react to a change in the volume or level of activity, so that management can decide the 'best' activity level.
5.1.2. Underlying Assumptions of CVP Analysis
CVP analysis is a short-run model that focuses on relationships among several items: selling price, variable costs, fixed costs, volume, and profits. This model is a useful planning tool that can provide information on the impact on profits when changes are made in the cost structure or in sales levels. However, the CVP model, like other human-made models, is an abstraction of reality and, as such, does not reveal all the forces at work. It reflects reality but does not duplicate it. Although limiting the accuracy of the results, several important but necessary assumptions are made in the CVP model. These assumptions follow.
1. All revenue and variable cost behavior patterns are constant per unit and linear within the relevant range.
2. Total contribution margin (total revenue - total variable costs) is linear within the relevant range and increases proportionally with output. This assumption follows directly from assumption 1.
3. Total fixed cost is a constant amount within the relevant range.
4. Mixed costs can be accurately separated into their fixed and variable elements. Although accuracy of separation may be questioned, reliable estimates can be developed from the use of regression analysis or the high-low method.
5. Sales and production are equal; thus, there is no material fluctuation in inventory levels. This assumption is necessary because of the allocation of fixed costs to inventory at potentially different rates each year. This assumption requires that variable costing information be available. Because both CVP and variable costing focus on cost behavior, they are distinctly compatible with one another.
6. There will be no capacity additions during the period under consideration. If such additions were made, fixed (and, possibly, variable) costs would change. Any changes in fixed or variable costs would violate assumptions 1 through 3.
7. In a multiproduct firm, the sales mix will remain constant. If this assumption were not made, no weighted average contribution margin could be computed for the company.
8. There is either no inflation or, if it can be forecasted, it is incorporated into the CVP model. This eliminates the possibility of cost changes.
9. Labor productivity, production technology, and market conditions will not change. If any of these changes occur, costs would change correspondingly and selling prices might change. Such changes would invalidate assumptions 1 through 3.
These assumptions limit not only the volume of activity for which the calculations can be made, but also the time frame for the usefulness of the calculations to that period for which the specified revenue and cost amounts remain constant. Changes in either selling prices or costs will require that new computations be made for break-even and product opportunity analyses.
The nine assumptions listed above are the traditional ones associated with CVP analysis. An additional assumption must be noted with regard to the distinction of variable and fixed costs. Accountants have generally assumed that cost behavior, once classified, remained constant over periods of time as long as operations remained within the relevant range. Thus, for example, once a cost was determined to be “fixed,” it would be fixed next year, the year after, and 10 years from now.
The above assumptions thus, imply that cost-volume-profit analysis is always based on contribution per unit (assumed to be constant unless a question clearly says otherwise) and never on profit per unit because profit per unit changes every time a few more or less units are made.
Activity 1: Define CVP



5.2. Applications of CVP Analysis

On the subsequent part of the module you will find an explanation and illustrations on the applications of CVP in different scenarios.
5.2.1. Break Even Analysis
CVP analysis has wide-range applicability. It can be used to determine a company’s break-even point (BEP), which is that level of activity, in units or dollars/Birr, at which total revenues equal total costs. At breakeven, the company’s revenues simply cover its costs; thus, the company incurs neither a profit nor a loss on operating activities.
· At the breakeven point total revenue is equal to total cost (both variable and fixed)
For instance Sebastopol Cinema sold 4,800 tickets during a show one month run. The following contribution margined approach income statement show that the operating income for the month will be zero:
Sales Revenue (4800 X Br25)	Br 120, 000
Less Variable Cost (4800 X Br 15)	72,000
Total Contribution Margin	Br 48,000
Less Fixed Costs	48,000
Operating Income	Br  0
The income statement above highlights (1) the distinction between variable and fixed cost and (2) the total contribution margin, which is the amount that contributes towards covering Sebastopol Cinema’s fixed cost and income generation. To state it differently, each ticket sold add Birr 10 to the firm’s bottom line profit. The Birr 10 unit contribution margin is derived by deducting the unit variable cost Birr 15 from Birr 25 the unit selling price of a ticket.
How could you compute Sebastopol Cinema’s breakeven point if you didn’t already know it is Birr 4,800 tickets per month? Well on the following discussion you will get the basics of CVP analysis to determine BEP and other application. CVP analysis can be done using three alternative approaches, namely: contribution margin approach, equation approach and graphical approach.
In discussing CVP application we will assume that the following variables have the meanings given below:
· SP = Selling Price Per Unit
· Q = Units Produced and Sold
· VCU = Variable Cost Per Unit
· CMU=contribution margin per Unit
· CM%= contribution margin percentage (CMU÷SP)
· FC = Total Fixed Costs
· TOI =Target operating Income
· TNI=Target Net Income
· t = Tax rate
5.2.1.1. Equation Method
In using equation approach to CVP analysis, you need to convert your income statement in the following equation form.Revenue –Variable Costs- Fixed Costs = Operating Income

Your Sales Revenue is equal to the number of units sold times the price you get for each unit sold: Sales Revenue = SPQ
Assume that you have a linear cost function, and your total costs equal the sum of your Variable Costs and Fixed Costs:
Total Costs = Variable costs + Fixed costs
The profit equation can, therefore rewrite as: (PXQ) - (VCUXQ) + FC= OI
This equation provides the most general and easiest approach to remember approach to any CVP situation. The determination of breakeven level using this method can easily performed by making the operating income on the right hand side of the equation zero. Here the basic assumption is that, when you are at breakeven, your Sales Revenue minus your Total Costs is zero.
· At breakeven point, (SPXQ) - (VCUXQ) + FC = 0


From the information given above for the Sebastopol Cinema, you can determine the breakeven point (BEP) using the equation approach as follows,
(Br25 X Q) – (Br15 X Q) – Br48, 000 = 0   Br10Q = Br 48,000   Q= 4,800
If Sebastopol sells fewer than 4800 tickets, it will have a loss, if it sells 4800 tickets, it will breakeven; and if the sales are more than 4800 units, it will make a profit.
The breakeven point stated in units can be stated in terms of Birr by multiplying the breakeven quantity and unit selling price. The breakeven point in Birr= BEQ x SP = 4,800 x Br25 = Br120, 000
5.2.1.2. Contribution Margin Approach
The contribution margin technique is merely a short version of the equation technique. The formulas used in the determination of the breakeven point in unit as well as in value are derived by the rearrangement of the terms in the equation method above, which is (SP x Q) – (VCU x Q) – FC= OI
Re-written equation takes the following format:  (SP-VCU) x Q = FC + OI That is, Q= FC + OI/ (SP-VCU)
The difference between unit selling price and unit variable cost is termed as unit contribution margin. You can replace the (P-V) by the term "Contribution Margin per Unit (CMU), Q= FC + OI/CMU
As you know from the discussion above at breakeven point the target operating income is Birr 0, so replacing OI by 0, you will get, Q= FC/ (SP-VCU)
5.2.1.2.1. Breakeven point in units using contribution Margin Approach
Breakeven point in units using this formula is determined by dividing the total fixed cost by the contribution margin per unit due to the fact that this approach centers on the idea that each unit sold provides a certain amount of fixed costs. When enough units have been sold to generate a total contribution

margin equals to the total expense and only after that point the units sold contributes for profit of the organization.
The breakeven number of tickets that Sebastopol Cinema must sold to reach at breakeven using this method can be determined as,  Q = FC/CMU Q=  Br48, 000/Br10 Q= 4,800 units
5.2.1.2.2. Determining breakeven point in terms of sales value (Dollar/Birr)
To find the breakeven sales value, you can use contribution margin percentage in place of contribution margin per unit in the formula you used in the determination of breakeven units. Contribution margin percentage is simply the ratio of contribution margin to selling price. CM% = CMU/USP
It can also determine by dividing the total contribution margin to total sales when the unit selling price and variable cost is not known. We will see how this formula is used in such a situation later. Before that let see how the formula works using the above example.
CM % on our example of Sebastopol Cinema = UCM/USP =  Br 10/ Br 25 = 0.4

This can be interpreted as, units sold cover variables costs and contribute 40 percent to cover fixed cost and increase in profit.
The break even sales amount (Birr) for Sebastopol Cinema = FC/CM% = 48,000/0.40 = Br 120,000
The breakeven sales determined using equation method was a mere multiplication of the breakeven point in unit and the unit selling price (4800 units x Br 25) which is exactly the same with what you determined using a more complicated contribution margin approach.
· Why do you think using the contribution margin approach is essential?
Well, sometimes you will be given only the income statement and asked to determine the breakeven sales without sufficient information about units selling price and unit variable cost. In this case, only using the contribution margin ratio you can determine the breakeven point in sales by dividing total fixed cost by CM ratio gives the break-even point in sales dollars.
For example, Jimma Electronics Co. produces portable radios. It has released the following Variable Costing Income Statement. This is the only financial information that we have regarding the company’s operations:
Sales Revenue	100,000
Less Variable Costs	30,000
Contribution Margin	70,000
Less Fixed Costs	50,000
Operating Income	Br 20,000
What is the Break-Even point for Jimma Electronics Co? You do not know the number of units that Jimma Electronics sold in a year. You do not also know the Price or the Variable Cost per unit. Although you do not know the price or the Variable Cost per unit, you are still able to calculate the Contribution Margin Ratio.
Contribution ratio can be determined by dividing total contribution margin to total sales.

CM% in this case is, therefore, determined as follows:
=  Br 70,000 ÷ Br 100,000	or  1- variable cost ratio
= 0.7 0r 70%	1- (variable cost ÷ sales)
1-(30,000 ÷ 100,000)
The breakeven point in sales is also determined by dividing the total fixed cost by the contribution margin ratio determined above as follows:
= FC/CM% = 50,000/0.7 =Br 71,428.57
Keep in mind the reason that Jimma Electronics’ Sales Revenue is lower than it was before is because the company sold fewer units. Keeping the price and Variable Cost per unit remained unchanged. Let's check if Breaks Even at this Sales Revenue figure:
Sales Revenue:	Br 71,428.57
Less Variable Costs (30% of 71,428.57)	21,428.57
Contribution Margin------------------------------------Br 50,000
Less Fixed Costs	50,000
Operating Income	Br0	Activity 2.
1. What is contribution margin, contribution margin per unit and contribution margin percentage?

5.2.1.3. Graphical Approach
You have seen how solutions to break-even problems are determined using an algebraic formula. However, sometimes managers need information in more visual format, such as graphs. In this approach you can construct a CVP graph by plotting total cost and total revenue graph at different activity level. The breakeven point is found at the intersection point of total revenue and total cost lines.
The chart or graph is constructed as follows:
2. Plot fixed costs, as a straight line parallel to the horizontal axis
3. Plot sales revenue and variable costs from the origin
4. Total costs represent fixed plus variable costs.
5. The breakeven point represents the intersection point of total revenue and total cost lines Now you can draw a CVP graph to Sebastopol Cinema following the steps given above and locate the breakeven point.
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Breakeven points for Sebastopol cinema can determined from the graph by identifying the level of output and sales value where the total revenue and total cost line cross to each other. In the case of Sebastopol cinema this happened when 4800 tickets are sold for birr 120,000 in which both the unit and the Birr value are similar with what have been determined in the equation and contribution margin approaches. The graphical approach is usually preferred by managers as it can provide a detail insight of the cost volume and profit relationship pictorially.
5.2.2. Target Operating Income AnalysisSelf test 1.3.
1. Assume that Bilen spring water plc. Produces each 1 liter bottled water at a cost of Br. 5.24 and sells each units for Br. 8. The total fixed cost per a month is Br. 2,460.
Required: compute the breakeven point in quantity and in revenue using
A. Equation method
B. Contribution margin approach

Using CVP analysis managers can determine the total sales in unit and Birr/Dollar needed to reach the target profit level. The computation of sales volume in unit and/ or in amount to attain the targeted profit is similar with that of the break even analysis, except that the targeted profit is more than offsetting the cost. For instance, the management of Sebastopol Cinema desires to get Br 9000 profit for the coming month, instead of operating at breakeven point, how many tickets must be sold? Managers want to answer this question to provide the necessary resource support to attain the desired profit at already determined volume of activity. The analysis can be performed using equation method or contribution margin approach on the basis of personal preference.
See both the methods using the information given for Sebastopol Cinema to determine the target sales in unit and Birr to that enable the firm to earn the targeted profit of birr 9,000 cab be determined using the equation method and contribution margin method as follows:
	Equation Method to Determine
(Target sales unit)
	Contribution Margin Approach
(Target sales unit)

	(SP x Q) - (VCU x Q) -FC= TOI (25 x Q) – (15 x Q) - 48,000= 9000
10Q= 57,000
Q= 5,700
	Q = FC +TOI/ CMU
Q = (48,000 + 9,000)/10
Q= 5,700

	Equation Method to Determine
(Target sales in birr)
	Contribution Margin Approach
(Target sales in birr)

	TR= SP x Q
=25 x 5700
= Br 142,500
	Target Sales in Birr = (FC + TOI)/CM%
= (48,000 + 9000)/ 40%
= Birr 142, 500


Bothe the methods provided similar result that the cinema must sell 5,700 tickets at a total of Birr 142, 500 to meet its target profit goal of birr 9000.
· Here you can recognize that each ticket sales beyond the breakeven point contributes to the firms operating income.

5.2.3. The Impact of Income Tax on CVP Analysis
Profit seeking enterprises must pay tax on their profit, meaning that target income figures are set at high enough to cover the firm’s tax obligation to the government. The relationship between an organization‘s before tax income and after tax income is expressed in the following formula:
After Tax income = Before Tax Income – Income Taxes NIAT  = NIBT- (NIBT x t) =  NIBT x (1-t)
Dividing both sides by (1-t) you can get: NIAT/ (1-t) = NIBT
Which gives you the desired before tax income that will generate the desired after tax income, given the company’s tax rate.
For instance, if the target profit given for Sebastopol Cinema above is expressed on after tax basis and the firm is subject to a 40 percent income tax rate, what will be the required sales of ticket in units and Birr? If you want to know how many units that you need to produce and sell in order to generate a target Net Income (or after-tax profit), just convert the after-tax number into a before-tax number.
NIBT = NIAT/ (1-t) =Br 9000/ (1-0.4) = Br 15,000
You can then substitute the before-tax profit figure in the formulas used in target operating income analysis. The analysis of sales of tickets and amount of Sebastopol cinema to earn the desired profit after tax can be determined using the equation and contribution margin approach as shown on the following table:
	Equation Method to Determine
(Target sales unit)
	Contribution Margin Approach
(Target sales unit)

	(SP x Q) - (VCU x Q) -FC= TOIBT (25 x Q) – (15 x Q) - 48,000= 15,000
10Q= 63,000
Q= 6,300
	Q = FC +TOIBT/ CMU Q = (48,000 + 15,000)/10 Q= 6,300

	Equation Method to Determine
(Target sales in birr)
	Contribution Margin Approach
(Target sales in birr)

	TR= SP x Q
=25 x 6300
= Br 157,500
	Target Sales in Birr = (FC + TOIBT)/CM%
= (48,000 + 15,000)/ 40%
= Birr 157, 500


5.2.4. Margin of Safety
The margin of safety is the excess of the budgeted or actual sales over the breakeven sales level. This tells managers the margin between current sales and the breakeven point. In a sense margin of safety indicates the risk of losing money that a company faces; that is the amount by which sales can fall before the company is in the loss area. The margin of safety is determined using the following formula:
Margin of Safety = Sales Volume (Actual or Budgeted) - Breakeven Sales volume 
As an example, conceder the case of Sebastopol Cinema, that planed to attain a Birr 9000 before tax profit at a sales volume of 5700 units or Birr 142, 500. The breakeven point for this company as determined on section 3 above is attained at the sales volume of 4,800 units or Birr 120,000. The margin of safety for this company is the difference between the budgeted sales and the breakeven sales, which is 900 units (5,700unite -4,800). The margin of safety in terms of sales value is also determined as Birr22, 500(Birr 142,500-Birr120, 000). The interpretation is that, sales volume of Sebastopol can drop by 1100 tickets or Birr 22,500 before the firm incurs a loss, if all other things remain constant.
In practice the margin of safety is determined in sales amount (Birr) and as a percentage of current sales. To determine the margin of safety in percentage the following formula can be used:
Margin of Safety (%) =	Margin of safety in Birr
SalesActivity 4.
1. Distinguish between operating income and net income
2. What is margin of safety

For Sebastopol Cinema the margin of safety percentage is =27,500/142,500 = 19.3%
5.3.  Summary
Using CVP analysis requires simplifying assumptions, including the assumption that costs are either fixed or variable with respect to the number of output units (units produced and sold) and that total revenue and total cost relationships are liner. CVP analysis assists managers in understanding the behavior of total costs total revenues, and operating income as changes occur in the output level, selling price, variable costs, or fixed costs.
The three methods outlined for computing the breakeven point (the quantity of output where total revenues equal costs) and the quantity of output to achieve target operating income are the equation method, the contribution margin method, and the graph method. Each method is merely a restatement of the other. Managers often select the method they find easiest to use in their specific situation. Income taxes can be incorporated into CVP analysis by using target net income rather than target operating income. The breakeven point is unaffected by the presence of income taxes because no income taxes are paid if there is no operating come.
When making decisions, managers use CVP analysis to compare contribution margins and fixed costs in different alternatives. Sensitivity analysis, a “what-if” technique, systematically examiners how a result will change if the original predicated data are not achieved or if an underlying assumption changes. CVP analysis highlights the downside risk and upside return of alternatives that differ in the structure of their fixed costs variable costs.
When CVP analysis is applied to a multiple-product company it is assumed that there is a constant sales mix of products as the total quantity of units sold changes. Contribution margin is revenues minus all variable costs (throughout the value chain), while gross margin is revenues minus cost of goods sold. The basic concepts of CVP analysis can be adapted to multiple cost driver situations but the simple formulae of the single cost driver case can no longer be used.
Answer for Activity Questions
Activity 1
Cost- Volume- Profit (CVP) Analysis is the examination of the relationships between cost, volume and profit. Thus, cost, volume and profits are the elements of CVP analysis.
Activity 2
Contribution margin: is the difference between total revenues and total variable. It represents the amount of money available to cover fixed costs and to provide profits for the period.
Contribution margin = Total Sales – Total variable costs
Contribution margin can be expressed in terms of total, unit and percentage basis.
Contribution margin per unit: is the difference between the unit selling price and the variable cost per unit. It measures the amount by how much the contribution margin changes (increases or decreases) for each unit change in the quantity of units sold.
Unit contribution margin = unit selling price (P) – unit selling price (V)
Contribution margin percentage (ratio): is the percentage of contribution margin to sales. It measures the percentage by how much contribution margin changes for each birr change in sales revenue. It can be calculated as:
Contribution margin/sales or Unit contribution margin unit selling price
Activity 3.
A. At Breakeven point,  (SPXQ) - (VCUXQ) + FC = 0
= 8Q – 5.24Q - 2,460 = 0
= Br. 2.76Q = Br.2,460
Q = Br. 2,460/ Br. 2.76 = 891 units
Breakeven point in sales revenue: 891 units x Br. 8 selling price = Br. 7,130.
B. At Breakeven point,	Q= FC/ (SP-VCU)
Q = Br. 2,460/ 2.76 = 891 units
The breakeven point in sales revenue is computed as FC/ CM% Br. 2,460/ .345 = Br. 7,130
Activity 4.
1. Operating income is the difference between operating revenue and operating costs including cost of goods sold. Operating income = Total revenues – Total costs
  Whereas, net income is the final figure to be reported on income statement. It is operating income minus income taxes. Net Income = Operating Income - Income taxes
2. The margin of safety is the excess of the budgeted or actual sales over the breakeven sales level. This tells managers the margin between current sales and the breakeven point.
5.4. Self-test questions  
PART I- True or False
Instruction, dear learners, please write true if the statement is correct and write false if the statement is wrong
1. In financial accounting, the term expense relates to expenditure and when this expense expires it will be reported on an income statement as cost.
2. The difference between total revenues and total variable costs is called gross margin.
3. Service-sector companies can compute a contribution margin figure but not a gross margin figure

4. Variable non-manufacturing costs are deducted from revenues when computing gross margin but are not deducted when computing contribution margin.
5. Income taxes can be incorporated into CVP analysis by using target net income rather than target operating income
6. The breakeven point is unaffected by the presence of income taxes because no income taxes are paid if there is no operating come.
7. Always, qualitative factors dictate managemen’s make-or buy decision
8. When CVP analysis is applied to a multiple-product company it is assumed that there is a constant sales mix of products as the total quantity of units sold changes.
9. Like contribution margin, gross margin can be expressed as a total, as an amount per unit, or as a percentage.
10. Fixed manufacturing costs are deducted from revenues when computing contribution margin but are not deducted when computing gross margin.

PART II- Fill in the Blank Spaces
Instruction, Dear Learners, please fill in the blank spaces with appropriate words or phrases
1. .	examines the behavior of total revenues, total costs and operating income as changes occur in the output level, selling price, variable costs per unit or fixed costs.
2. In decision making process, any cost that differs among alternatives and will influence the outcome is a 	_________. 
3. The difference between operating revenue and operating costs including cost of goods sold is the

4. 	is the difference between the unit selling price and the variable cost per unit.
5. 	(also called contribution margin ratio) is the contribution margin per unit divided by the selling price
6. The 	is that quantity of output where total revenues equal total costs-that is, where the operating income is zero
7. 	is a “What- if” technique that managers use to examine how a result will change if the original predicted data are not achieved or if an underlying assumption changes.
8. 	is the amount of budgeted revenues over and above breakeven revenues
PART III- Problems
Instruction, Dear Learners, please work out the following questions by showing the necessary steps Problem 1-1 Max Company produces a single product that it sells wholesale for $100 per unit. Variable costs per unit amount to $80 and total fixed costs are $100,000. Assume the applicable tax rate is 40%.
Required:
a. Find the break-even point in sales dollars.
b. Find the sales dollars needed to generate $20,000 in net income before taxes.
c. Find the sales dollars needed to generate $24,000 in net income after taxes.

d. Find the sales dollars needed to generate a 9% return on sales dollars after taxes.
e. Find the sales dollars needed to generate an 18% return on sales after taxes.

Problem 1-2 The VM Company produces and sells a line of Camcorders with a sales price and budgeted unit costs as follows:
Sales price	$600
Direct materials costs per unit	170
Direct labor costs per unit…	50
Factory overhead costs:
Variable per unit	90
Total Fixed…	400,000
Selling and Adm. Costs:
Variable per unit sold…	30
Total Fixed…	120,000
Required:
1. Determine VM Company's conventional linear break-even point in units
2. Assume a tax rate of forty percent. Using conventional linear cost volume profit analysis, determine the number of units that VM Company would have to produce and sell to generate net income of $78,000 after taxes.
3. Now suppose the company wants to earn 10% on sales revenue after taxes. Using conventional linear cost volume profit analysis, determine the number of units VM would need to be produce and sell to accomplish this goal
Answer for self-test questions
	Part I
	1.True
	2.False
	3.True
	4.False
	5. True
	6. True
	7. True
	8. True
	9. True
	10.False


	

Part II
	1. Cost-volume profit (CVP) analysis
	2. Relevant cost
	3. operating income
	4. Contribution margin per unit

	
	5. Contribution margin percentage
	6. breakeven point
	7. Sensitivity analysis
	8. Margin of safety

	
	9. Sales mix
	10. equation method
	
	


PART-III: PROBLEMS SOLUTIONS PROBLEM 1-1
a) 
b) $ 500,000
c) $600,000
d) $700,000
e) $2000,000
f) 
g) Not feasible to earn a 18% on sale
PROPLEM 1.2
1) 
2) 2000 units
3) 2500 units
4) 3250 units




References 

1989.
Barfield, Raiborn, and Kinny, Cost Accounting Traditions and innovations,4thedition,south western publishing co.
Charles T Horngren, George Foster Cost Accounting: a Managerial Emphasis   10th edition, USA; prentice-Hall Inc.
Charles, T. Horngren., Introduction to Management Accounting, 12th ed.  Prentice-Hall, Inc. New Jersey, 2002
Engler, Calvin.,Managerial Accounting, 2nd ed. Richard D. Irwin, Inc. Boston, 1990.
Fees and warren, Accounting Principles, 16th edition, South Western Publishing Company. / Any recent edition/
Garrison, Ray H. and Eric W. Noreen, Managerial Accounting, 8th ed Irwin, Inc.,Boston, 1997
Hermanson, Edwards and Salmonson, Accounting Principles, 4th ed., Richard D. Irwin, Inc.
Hilton, Ronald W., Managerial Accounting,. 4th ed. Irwin McGraw Hill. New York. 1997.
Hugh Coombs, David Hobbs, and Ellis Jenkins, Management accounting principles and applications, Sage publications
Keiso,Weygandt & Warfield (2015), Intermediate Accounting 2nd Ifrs Edition, John Wiley And Sons, Inc. New Jersey, 
Larson, Kermit D., Fundamental Accounting Principles, 12th edition and above, Richard Irwin Inc., 1990 and beyond.
Meigs Walter B., Accounting, The Basis for Business Decisions, 6th Ed and above, McGraw- Hill International Book Company, 1984 and beyond.
More & Jaedicke. Managerial Accounting. 4 thed. South-Western. New York. 1976.
Niswonger and Fees, Accounting Principles, South Western Publishing Company 10th – 13th Ed.
Ray H. Garrison, Eric W. Noreen, Managerial Accounting, 9th edition, Irwin McGraw-Hill.
Smith, Keith & Stephens, Accounting Principles, 3rd edition and above, McGraw Hill book Company.1989 and beyond.
Weygandt Kimmel and Kieso, 2012, Accounting Principles 10th edition, John Wiley & Sons, Inc.



















image2.png




image3.png




image4.png




image5.png




image6.png




image7.png




image8.png




image9.png




image10.png




image11.png




image12.png




image13.png




image14.png




image15.png




image16.png




image17.png




image18.png




image19.png




image20.png




image21.png




image22.png




image23.png




image24.png




image25.png




image26.png




image27.png




image28.png




image29.png




image30.png




image31.png




image32.png




image33.png




image34.png




image35.png




image36.png




image37.png




image38.png




image39.png




image40.png




image41.png




image42.png




image43.png




image44.png




image45.png




image46.png




image47.png




image48.png




image49.png




image50.png




image51.png




image52.png




image53.png




image54.png




image55.png




image56.png




image57.png




image58.png




image59.png




image60.png




image61.png




image1.jpeg




